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The following table-1 shows the percentage distribution of the number of students studying in six different

Law Colleges (A-F) offering a 5-year course and table-2 shows the percentage distribution of the number of
students studying in three different Sections I, IT and IIT of each of the five classes (15 to 5t vear) for college
D. There is a total of 1080 students studying in College C and each class of College D has the same number of
students. Based on the data in the tables, answer the question :

Table-1 : Collage-wise Distribution of Students

College Distribution (%8) of Students

1

A 8—%
3

B 10%

& 20%
2

D 16—2%
3

E 30%

F 15%

Table-2 Class-wise & Section-wise distribution (%) of Students for College D

Clase Section
I i il
1% Year 30% 35% 35%
288 Year 50% 25% 25%
3% Year 20% 55% 23%
4% Year 45% 35% 20%
5™ Year 35% 30% 35%

frafafad aifae! - 1 1 uiadia dreawd ara o - faft meifaeedl (A-p)d sieaRa faeiat
1 i faaRor e=ifar T § SiR diferer-2 H meifdeerd D @ ug wensi (rum  uied o) § 3 ude
& i O ST 1, 11 9 111 31eqg=Rd [qeiia] o1 T &1 Wi fdavur axiar 791 § | Hgiidaed C
T feORd faentidl &1 g SR 1080 § SR Heidened D 31 Udd b4 § [l &1 w1 us 9a9H
B | aifcrp1ai § Uad S| & TR UR WY &1 3R i :

qiferat -1 faenfiial 1 nerfderey ar faao

Taenidfal @ faaeu
(%)
A 819
3
B 10%
C 20%
2
D 16=%
3
E 30%
F 15%
drferel-2 : Tglideed D H faenfial &1 S&1.aR g SiUFT aR (%) faa=o
DT FHHIT
I il I
POEEL 30% 35% 35%
fgdmay 50% 25% 25%
qagay | 20% 55% 25%
aqday | 45% 35% 20%
FEEE 35% 30% 35%




If Section-II in College B's gnd vear class and Section-I in College D's 3rd year class have the same number of

. ~nd

students, then the ratio of the number of students in Section-II in College B's 2"¢ year class to that of Section-

11T in College D's sth vear class is

g
5:7

Fornes

.47
(1) 1
() 2
(3) 3
(4) 4

I Agiidened B &1 fgdia a9 &l & MR- 3R Fgaeied D & gaid aN &l & U1 T
faenfail o1 T us 991 3, dl Helfaercd B & fgdy oy el & siHr-I # faenfial &t wem a1
TeIened D $1 Uad a4 &l & ST H fGenfifdl ot wem & Fefafed § S &H 9 srua § 2

253
&
BTl
.47
1) 1
(2) 2
3) 3
4) 4
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1[Option ID=42101] Question Description : general_paper_genarel paper_set 27_english_q1
2[Option ID=42102]
3[Option ID=42103]
4[Option ID=42104]
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The following table-1 shows the percentage distribution of the number of students studying in six different
Law Colleges (A-F) offering a 5-year course and table-2 shows the percentage distribution of the number of
students studying in three different Sections I, IT and IIT of each of the five classes (1% to st vear) for college
D. There is a total of 1080 students studying in College C and each class of College D has the same number of
students. Based on the data in the tables, answer the question :

Table-1 : Collage-wise Distribution of Students

College Distribution (%8) of Students

1

A 8—%
3

B 10%

& 20%
2

D 16—2%
3

E 30%

F 15%

Table-2 Class-wise & Section-wise distribution (%) of Students for College D

Class Section
I i il
1% Year 30% 33% 35%
284 Year 50% 25% 23%
3% Year 20% 55% 25%
4™ Year 45% 35% 20%
5™ Year 35% 30% 35%

frafataa arfae! - 1 9 uieadia ureasd ard o8 fy9-fis faft geifaemedt (a-p)d sroo-Ra faenfifat
1 Wi faaor g=ifar man B SiR aifeer-2 & meifaered D 3t uie Sersit (um | gi=d o) o 9 udd
& ot O ST 1, 11 G 111 ¥ SR [aerid] &1 T 1 Wi faavur axiar a1 § | vyl C
T femRd faentidl &1 go S 1080 § SR Hefdened D 31 Udid w41 § [l &1 wwe ue 99
g | aifcrereli § ued sfids! & YR TR TY &I IR STy -

arferat -1 faenfilai &1 gerfdeney ar faavu

Taeiar &1 fgero
(%a)
A 8L9
3
B 10%
C 20%
2
D 16=%
3
E 30%
F 15%
dTferet-2 : TgTideed D ¥ faenfial &1 S&1.aR g SUFT aR (%) faa=o
BET HHIT
I it i}
e ay 30% 35% 35%
fadmay | 50% 25% 25%
qagay | 20% 55% 25%
aqiay | 45% 35% 20%
dgq ay 35% 30% 35%

What is the total number of students in Section-I of all classes in College D?

320
324
250
. 252
1)1
(2) 2
(3) 3

e

e 2




(4) 4

TeTideTed D &1 9t darsli & U1 § faentidl &t ga dw i g 2

o faa
[ S )
b O o O

R I
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1) 1
(2) 2
(3) 3
4) 4
1[Option ID=42105] Question Description : general_paper_genarel paper_set 27_english_q2
2[Option ID=42106]

3[Option ID=42107]
4[Option ID=42108]
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The following table-1 shows the percentage distribution of the number of students studying in six different
Law Colleges (A-F) offering a 5-year course and table-2 shows the percentage distribution of the number of
students studying in three different Sections I, IT and IIT of each of the five classes (1% to st vear) for college
D. There is a total of 1080 students studying in College C and each class of College D has the same number of
students. Based on the data in the tables, answer the question :

Table-1 : Collage-wise Distribution of Students

College Distribution (%8) of Students

1

A 8—%
3

B 10%

& 20%
2

D 16—2%
3

E 30%

F 15%

Table-2 Class-wise & Section-wise distribution (%) of Students for College D

Class Section
I i il
1% Year 30% 33% 35%
284 Year 50% 25% 23%
3% Year 20% 55% 25%
4™ Year 45% 35% 20%
5™ Year 35% 30% 35%

frafataa arfae! - 1 9 uieadia ureasd ard o8 fy9-fis faft geifaemedt (a-p)d sroo-Ra faenfifat
1 Wi faaor g=ifar man B SiR aifeer-2 & meifaered D 3t uie Sersit (um | gi=d o) o 9 udd
& ot O ST 1, 11 G 111 ¥ SR [aerid] &1 T 1 Wi faavur axiar a1 § | vyl C
T femRd faentidl &1 go S 1080 § SR Hefdened D 31 Udid w41 § [l &1 wwe ue 99
g | aifcrereli § ued sfids! & YR TR TY &I IR STy -

aferet -1 faenfilat &1 gerfdeney ar faavo

Taeiar &1 fgero
(%a)
A 8L9
3
B 10%
C 20%
2
D 16=%
3
E 30%
F 15%
dTferet-2 : TgTideed D ¥ faenfial &1 S&1.aR g SUFT aR (%) faa=o
Gl U
I il it}
wuH qy 30% 35% 35%
fadmay | 50% 25% 25%
qagay | 20% 55% 25%
aqiay | 45% 35% 20%
dgq ay 35% 30% 33%
The number of students in Section-III of 4th year class in College Dis % of the total number of

students in College A,

R
— GO O Ui

1) 1
() 2




(3) 3
4) 4

Telfaened D & 9qd a9 & Ut | faenfial o1 T meiidenayg A § Gl o oo g'mn a1
fara Hfo=ra § 2

R
= 00 Gy L

.10

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=42109] Question Description : general_paper_genarel paper_set 27_english_q3
2[Option ID=42110]

3[Option ID=42111]
4[Option ID=42112]

Sl. No.4
QBID:27201004




The following table-1 shows the percentage distribution of the number of students studying in six different
Law Colleges (A-F) offering a 5-year course and table-2 shows the percentage distribution of the number of
students studying in three different Sections I, IT and IIT of each of the five classes (1% to st vear) for college
D. There is a total of 1080 students studying in College C and each class of College D has the same number of
students. Based on the data in the tables, answer the question :

Table-1 : Collage-wise Distribution of Students

College Distribution (%8) of Students

1

A 8—%
3

B 10%

& 20%
2

D 16—2%
3

E 30%

F 15%

Table-2 Class-wise & Section-wise distribution (%) of Students for College D

Class Section
I i il
1% Year 30% 33% 35%
284 Year 50% 25% 23%
3% Year 20% 55% 25%
4™ Year 45% 35% 20%
5™ Year 35% 30% 35%

frafataa arfae! - 1 9 uieadia ureasd ard o8 fy9-fis faft geifaemedt (a-p)d sroo-Ra faenfifat
1 Wi faaor g=ifar man B SiR aifeer-2 & meifaered D 3t uie Sersit (um | gi=d o) o 9 udd
& ot O ST 1, 11 G 111 ¥ SR [aerid] &1 T 1 Wi faavur axiar a1 § | vyl C
T femRd faentidl &1 go S 1080 § SR Hefdened D 31 Udid w41 § [l &1 wwe ue 99
g | aifcrereli § ued sfids! & YR TR TY &I IR STy -

arferat -1 faenfilai &1 gerfdeney ar faavu

Taeiar &1 fgero
(%a)
A 8L9
3
B 10%
C 20%
2
D 16=%
3
E 30%
F 15%
dTferet-2 : TgTideed D ¥ faenfial &1 S&1.aR g SUFT aR (%) faa=o
BET HHIT
I it i}
e ay 30% 35% 35%
fadmay | 50% 25% 25%
qagay | 20% 55% 25%
aqiay | 45% 35% 20%
dgq ay 35% 30% 35%

If 20% of the students in College A move to College D and are equally distributed in each class, then what is
the number of students in Section-II of College E's 3rd year class?

1. 36

2.45

3.72

4, Cannot be determined
(1) 1

(2) 2




(3) 3
(4) 4

TfE TeTfdened A F 20% fGendf merfaeea p T 90 o € 3R Tae Sa1 & 3951 99 faavur faar
W11 5, A Helaaierd E &1 ol ay P&l & P 11 1 gl ot g feva-l siit 2

.36
435

L7 )
frufRaadistonasdie |
(1)1

(2) 2

(3) 3

@) 4

b2 o=

S V]

1[Option ID=42113] Question Description : general_paper_genarel paper_set 27_english_q4
2[Option ID=42114]
3[Option ID=42115]
4[Option ID=42116]
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The following table-1 shows the percentage distribution of the number of students studying in six different
Law Colleges (A-F) offering a 5-year course and table-2 shows the percentage distribution of the number of
students studying in three different Sections I, IT and IIT of each of the five classes (1% to st vear) for college
D. There is a total of 1080 students studying in College C and each class of College D has the same number of
students. Based on the data in the tables, answer the question :

Table-1 : Collage-wise Distribution of Students

College Distribution (%8) of Students

1

A 8—%
3

B 10%

& 20%
2

D 16—2%
3

E 30%

F 15%

Table-2 Class-wise & Section-wise distribution (%) of Students for College D

Class Section
I i il
1% Year 30% 33% 35%
284 Year 50% 25% 23%
3% Year 20% 55% 25%
4™ Year 45% 35% 20%
5™ Year 35% 30% 35%

frafataa arfae! - 1 9 uieadia ureasd ard o8 fy9-fis faft geifaemedt (a-p)d sroo-Ra faenfifat
1 Wi faaor g=ifar man B SiR aifeer-2 & meifaered D 3t uie Sersit (um | gi=d o) o 9 udd
& ot O ST 1, 11 G 111 ¥ SR [aerid] &1 T 1 Wi faavur axiar a1 § | vyl C
T femRd faentidl &1 go S 1080 § SR Hefdened D 31 Udid w41 § [l &1 wwe ue 99
g | aifcrereli § ued sfids! & YR TR TY &I IR STy -

arferat -1 faenfilai &1 gerfdeney ar faavu

Taeiar &1 fgero
(%a)
A 8L9
3
B 10%
C 20%
2
D 16=%
3
E 30%
F 15%
dTferet-2 : TgTideed D ¥ faenfial &1 S&1.aR g SUFT aR (%) faa=o
BET HHIT
I it i}
e ay 30% 35% 35%
fadmay | 50% 25% 25%
qagay | 20% 55% 25%
aqiay | 45% 35% 20%
dgq ay 35% 30% 35%

What is the difference between the number of students in College C and in Section-IIT across all classes in
College D?

1. 828
2.830
3. 838
4,756
1)1
(2) 2




3) 3
(4) 4

Telfaened ¢ ¥ faenfial @t e iR gerfdared D Bt i defnad & SryrT -1 H faenfidl of Sem &
o foraT iR & 2

. 828
. 830
. 838
. 756
1)1
) 2
3) 3
(4) 4

b2 o=

S )

1[Option ID=42117] Question Description : general_paper_genarel paper_set 27_english_q5
2[Option ID=42118]
3[Option ID=42119]
4[Option ID=42120]

Sl. No.6
QBID:27201006

In Bloom's taxonomy of learning objectives, which of the following categories come under affective domain ?

. Receiving

. Responding
. Analysis

. Organization
. Application

HE 0w

Choose the most appropriate answer from the options given below:

1.B,Cand E only
2. Aand D only
3. A, Band D only
4. A, B, Cand E only
1 1
(2) 2
3) 3
(4) 4

I & ST I=al & il H, FafiiEd § 9 1 H A0ET yiaiRe 859 & Sidld Sl § 2

AU Al

B. TR &1
c. fawemor

D. ¥4
E. 39T
i f4U 7Y fd et § Had U SR DI TG BITIg:

1.HadaB. C ARE
2. %Had A R D
3.Pad A, B IARD
4. PATA, B, C 3R E

1 1

() 2

@3) 3

(@) 4

1[Option ID=42121] Question Description : general_paper_genarel paper_set 27_english_q6
2[Option ID=42122]
3[Option ID=42123]
4[Option ID=42124]
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Given below are two statements:
Statement I : The channels of SWAYAM PRABHA are uplinked from BISAG, Hyderabad.

Statement IT : SWAYAM PRABHA is an education learning platform available 247 through 37 DTH
channels.

In the light of the above statements, choose the correct answer from the options given below:

1. Both Statement I and Statement II are true.
2. Both Statement I and Statement II are false.
3, Statement I is true but Statement II is false,
4, Statement I is false but Statement II is true.

(1) 1

(2) 2

3) 3

(4) 4

THareyEiRkuuE:

HY 1 : TWEYHT S 971 [T (BISAG), BX1EIE U ofS (3MUfias) §UT |
HYF 11 : TWAYHT 37 S ¢} T a0l GRT 24=7 IUde] U Qfdidp HATH TewH ¢ |
IURIF HY D el H, i 4T Y fadhed| H gl 3R &1 9949 DI

P ARISAI 9§ |

HYF IR EH] 3T © |
BT S, AT HYT I T ¢ |
PUT 1T e, AT PUT I TR |
(1) 1

) 2

(3) 3

4) 4

da Lo D =

1[Option ID=42125] Question Description : general_paper_genarel paper_set 27_english_q7
2[Option ID=42126]
3[Option ID=42127]
4[Option ID=42128]

Sl. No.8
QBID:27201008

Which of the following are the Intellectual characteristics of Adolescents?

A. Variations in emotional moods.

B. Development of imagination.

C. Increase in span of attention.

D. Increase in pulse rate.

E. Development of thinking and reasoning.

Choose the most appropriate answer from the options given below:

1. Aand D only
2.A B.Cand D only
3.B.Cand E only
4. A, C,DandE only
1
) 2
3) 3
(4) 4




fPRIRT & difge siftmem FaRf@a A deH A g 2

A. YTaTEP JH16 30 § ggard
B. SegH @l a1

C. & 50T - 3afd H gig
D. WE RIS

E. fid9 ud g &1 faerg

4 feu g fawedl F § 99 S0 SR &1 907 SIS :

1[Option ID=42129] Question Description : general_paper_genarel paper_set 27_english_q8
2[Option ID=42130]
3[Option ID=42131]
4[Option ID=42132]

Sl. No.9
QBID:27201009

A learner learns to bake a cake in school. He/she applies the knowledge to bake the cake at home. It is a type
of of learning.

1. Horizontal transfer
2. Vertical transfer
3. Zero transfer
4, Negative transfer
1y 1
(2) 2
3) 3
(4) 4

S HftrEd fdeiad 8 S §411 SETdI § | 98 TR IR &b a1 & 911 &I Syl $=dl § | 78 e
THR & T BTUBR € 2

. &fas siaRo
, FHafeR SR
Y 3RO
(1) 1

2 2

(3) 3

4) 4

[T S

oy

1[Option ID=42133] Question Description : general_paper_genarel paper_set 27_english_q9
2[Option ID=42134]
3[Option ID=42135]
4[Option ID=42136]

Sl. No.10
QBID:27201010

A teacher can enjoy teaching as a profession when he/she

1. seeks respect from students.
2. ensures strict discipline in the class.
3. has better qualification than his'her colleagues.
4, iz close to the Principal or Vice Chancellor,
1)1
(2) 2
3) 3
4) 4




BI5, RI&@ TP gl (UIHRH) & =9 H R1&/01 &1 3¢ & Fobdl 3, o9 a8 -

. foenfifal @ g e s EEaT e |
P& H DOR S YHIYT PR |
. 3T Y gl O §8R grgarI@dr e |
UTEH g1 Fadid &1 HRiel gial g |
11

(2) 2

(3) 3

(4) 4

e L b2

1[Option ID=42137] Question Description : general_paper_genarel paper_set 27_english_q10
2[Option ID=42138]
3[Option ID=42139]
4[Option ID=42140]

Sl. No.11
QBID:27201011

Sets of principles that describe and predict events are known as:

1. Hypotheses
2. Concepts
3. Analyses
4. Theories
(1) 1
(2) 2
3) 3
(4) 4

ge1s{ &1 qui 3R 3751 JaiqHH o=+ arel [HGidl & 9=l o f6d =9 1 S\ 91l 8 2

. YR
ICEEEL]
oz

da L b

1) 1

(2) 2

3) 3

4) 4

1[Option ID=42141] Question Description : general_paper_genarel paper_set 27_english_q11
2[Option ID=42142]

3[Option ID=42143]
4[Option ID=42144]

Sl. No.12
QBID:27201012

Interpretation of findings is a collaborative activity of both participants and researcher in

1. Case studies
2. Applied research
3. Textual analysis
4, Phenomenology
1)1
2) 2
3) 3
4) 4

et ot oure fobg  ufawifiigl iR wvedl giFT &1 YearTES [parea § 2

1. WUl HET (dd o o)

. ST =Ty

. Td UT6-favges fawayr (Coag s TATa)
4. g1 - fooar - oA

1) 1

2) 2

3) 3

(4) 4

LT

1[Option ID=42145] Question Description : general_paper_genarel paper_set 27_english_q12
2[Option ID=42146]
3[Option ID=42147]
4[Option ID=42148]
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The ethnographic research is mostly conducted in:

1. Simulated environment
2. Natural environment
3. Virtual environment only
4. Artificial environment
1) 1
(2) 2
(3) 3
(4) 4

rafafad o 9 feud st Fafd - gui Saedl 2y o1 siriferd fear o & 2
. I=10d qrTaRul

. WEIHIa ardiaRun

. &rad STYTE aIaxon
. AT qTATERl

(1) 1

(2) 2

(3) 3

(4) 4

O S

1[Option ID=42149] Question Description : general_paper_genarel paper_set 27_english_q13
2[Option ID=42150]
3[Option ID=42151]
4[Option ID=42152]

Sl. No.14
QBID:27201014

Which of the following are the characteristics of ratio level data ?

A. Unequal spacing

B. Negative scores

C. Equal spacing

D. Increasing or decreasing order
E. Absolute zero point

Choose the correct answer from the options given below:

1. A Band C only
2.B.Cand D only
3.C.Dand E only
4, A, BandE only

(1) 1

(2) 2

(3) 3

4) 4

SUTd R & &d | (HErarad § 9 o 9 [aRvang € 2

A, 3FTHM e

B. SBUMES WIdid (SPIR)

C. JHM 3{aRTe

D. 9l 1 ¥l 3y

E. FRU& = fag (UsHiege iRk dige)

i feu e famedl § 9 T8l 3R &1 90 Il ;

1. AT A, B, C
2. $dd B, C,D
3. %da C,D,E
4. HAd A, B, E

1) 1

(2 2

(3) 3

(4) 4

1[Option ID=42153] Question Description : general_paper_genarel paper_set 27_english_q14
2[Option ID=42154]




3[Option ID=42155]
4[Option ID=42156]

Sl. No.15
QBID:27201015

Given below are two statements :

Statement I : Operational definitions are used to get the meaning of abstract concepts.

Statement IT : Operational definitions do not define how a variable is measured.

In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement I and Statement IT are correct.

2. Both Statement I and Statement IT are incorrect.

3. Statement I is correct but Statement II 1s incorrect.
4. Statement I is incorrect but Statement II 1s correct.

1)1
(2) 2
(3) 3
(4) 4

TR HyfeumuE:

YT : S SAURUN & 2 W $3 P (¢ YA RIS &1 W [har ol & |

YT 11 : TEITHTT TS 59 G § 9y 7] ol ¢ fr 58 U =R &1 9104 [ oan g |
IRIFT FYA D AP |, Aid [SU U fddwed| H Tl IR B 98- DT

HYFIRIEH AR |

CHUYT IR I SH AT |

PUYT 1T §, AP PUT I ST E |
R-IE R e R R R E DI o
(1) 1

() 2

(3) 3

@) 4

O k2 =

1[Option ID=42157] Question Description : general_paper_genarel paper_set 27_english_q15
2[Option ID=42158]
3[Option ID=42159]
4[Option ID=42160]

Sl. No.16
QBID:27201016

The first media age was related to

1. Oral communication
2. Inscription on stones
3. Print publications
4. Broadcast media
1
2) 2
(3) 3
(4) 4

Ty Hitsg g Fafatad § 9 fead defed ot 2

1. TG Fuwoy
2. TRy
3. gfed YT
4. JERU Hifsam
1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=42161] Question Description : general_paper_genarel paper_set 27_english_q16
2[Option ID=42162]

3[Option ID=42163]
4[Option ID=42164]

Sl. No.17
QBID:27201017




Modern communication technology like the Internet has resulted in :

1. Community media culture
2. National media culture

3. Personalized media culture
4, Rural media culture

(4) 4

ZexAe ol Y SR UElifie] & uRumaeaey Fafiied 8 9 fGue e gang 2

. Hifsar gwpfd
. YT HifSa1 Yepid
gt Hifsar S fd

(1) 1
(2) 2
(3) 3
(4) 4

O S

1[Option ID=42165] Question Description : general_paper_genarel paper_set 27_english_q17
2[Option ID=42166]
3[Option ID=42167]
4[Option ID=42168]

Sl. No.18
QBID:27201018

The Lasswellian model of mass communication is the foundation of media.

1. Causal theory
2. Effects theory
3. Ethical studies
4. Culture analysis

1 1

@) 2

3) 3

(4) 4

WEER &1 Ardfog Alsd Feiiad § T g difsar & snur g 2

1. BRUYYH Rgid
2. 7yra fa<gia
3. Afa® sreggA
4. Epia faRan
1) 1
(2) 2
3) 3
4) 4

1[Option ID=42169] Question Description : general_paper_genarel paper_set 27_english_q18
2[Option ID=42170]
3[Option ID=42171]
4[Option ID=42172]

Sl. No.19
QBID:27201019

Shannon and Weaver's communication model was not focused on:

A Message transmission

B. Contents of messages

C. Meanings of messages

D. Intention behind messages
E. Medium of transmission

Choose the correct answer from the options given below :

A.B.Conly
.B.C.D only
3.C.D.E only
4. A.D.E only

1) 1

[




) 2
3) 3
(4) 4

U 9 AR & UOR Hied Heiiiad ¥ 3 {59 R Hiaa Tg a1 2

A. HER IR

B. Ha¥ll &1 sid-a¥g
C. g & aref

D. Ui o Ule & 6 1
E. TR0 O1e0H

i faU U fadhedl & T g IR BT 99 il :

1. %A A, B.C
2.%4d B,C,D
3. %aAC.D,E
4. PAUA,D,E
1) 1
(2) 2
3) 3
(4) 4
1[Option ID=42173] Question Description : general_paper_genarel paper_set 27_english_q19
2[Option ID=42174]

3[Option ID=42175]
4[Option ID=42176]

Sl. No.20
QBID:27201020

Given below are two statements

Statement I : According to Derrida, the effects of communication are subordinate to the effects of writing.
Statement IT : Derrida categorises the effects of language as polysemia and dissemination.

In the light of the above statements, choose the correct answer from the options given below:

1. Both Statement I and Statement II are true.
2. Both Statement I and Statement IT are false.
3. Statement I is true but Statement II is false.
4. Statement I is false but Statement II is true.

(1) 1
) 2
(3) 3
(4) 4

4 S Py Ry E:

HYT1: SRET P TR, YR & JHIG OG- U6 & AHSTRIBA S |
Y11 : SNET A HTT & JUTa] Bl ag el (nierafis 3R yoR 4 aifigd [ g |
IR HYA & AP |, Aid [SU Y fddwmed| H Tl IR 1 98- ST

FUFIRIEH TG |

HYF IR I EH] ST |

FUF IS, AT YT I © |
B I e, AT HU I I © |
(1) 1

2) 2

3) 3

(4) 4

e W B2 =

1[Option ID=42177] Question Description : general_paper_genarel paper_set 27_english_q20
2[Option ID=42178]
3[Option ID=42179]
4[Option ID=42180]

SI. No.21
QBID:27201021




A man is facing southwards. He turns right and walks 25 meters and again turns right and walks 15 meters. Now he turns left and walks 15
meters and then again turns right and walks 25 meters. Now he turns right again and walks 70 meters. In which direction is the man now
from the starting point?

1. South-West
2. South-East

3. North-West
4. North-East
1) 1
(2) 2
(3) 3
(4) 4

Us oAfaa o1 4 G180 G &1 3R § | 98 alie-l SR 5o 25 Hiex Iadl § 3R JF: Slfe- Go®R 15 Hiex 9adl ¢ | 3@ a5 alg
AR GSHR 15 Hicx Iadl g 3R R G a0 Sa 25 Hied 9adl § | 3@ a8 I &l GS@x 70 Hiex Iadl § | 3@ a8 aaiad
AR g A fpafqama g

1. G907 - 9igy
2. Sl&u-gd
3. IR-9IEH
4. W44
1
) 2
@3) 3
(@) 4

1[Option ID=42181] Question Description : general_paper_genarel paper_set 27_english_q21
2[Option ID=42182]
3[Option ID=42183]
4[Option ID=42184]

Sl. No.22
QBID:27201022

A man 'P' introduces another man 'Q' by saying, "He is the husband of the grand daughter of the father of my
father". How 1s 'Q' related to 'P' ?

. Cousin

. Brother-in-law
. Son

. Uncle

(1)1

@) 2

3) 3

(4) 4

U A P TP §3R e “Q* P I Hod gU U= &Il §, <5 IR a1 & Ui Sl Ui s afa g 1~
QBT P’ B UTY T HFY & »

1. oM (@91 /HHRT HIS)
9
SEae]

R O

B

1) 1

(2) 2

3) 3

(4) 4

1[Option ID=42185] Question Description : general_paper_genarel paper_set 27_english_q22
2[Option ID=42186]

3[Option ID=42187]
4[Option ID=42188]

Sl. No.23
QBID:27201023

What number can replace the question mark (?) in the series given below:
2,4,7,12,21,38,7

1.67
2.61
3.50
4. 71
1)1




) 2
3) 3
(4) 4

2 €1 T2 e § e e () B B I e wlawfid s wddt | ¢

2,4.77,12,21, 387

(1) 1

(2) 2

(3) 3

4) 4

1[Option ID=42189] Question Description : general_paper_genarel paper_set 27_english_q23
2[Option ID=42190]

3[Option ID=42191]
4[Option ID=42192]

Sl. No.24
QBID:27201024

While pointing towards a girl. Arun says, 'this girl is the daughter of the only child of my father'. What is the relation of Arun's wife with
the girl?

1. Mother-in-law
2. Aunt
3. Mother
4. Sister
1)1
(2) 2
(3) 3
(4) 4

wq;q{%ﬁsﬁ?émd TR BU, 301 HEdl 8. T8 AS®! IR [Ud1 &1 THHE I $i GAl § I° 301 B Udll B 39 ds®! & a1y
FGGY ¢ »

|
3t
HIdT
GRG|

[T S

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=42193] Question Description : general_paper_genarel paper_set 27_english_q24
2[Option ID=42194]

3[Option ID=42195]
4[Option ID=42196]

Sl. No.25
QBID:27201025

What will be the average of the set of prime numbers falling between 12 and 427

b2 =
| e
| ]

| S OS]

S D 1D oo
]
L Lh Lh Lh

i

(3

1)1
(2) 2
(3) 3
(4) 4

12 3R 42 4 3 Tl U (WIS H) TEA13 & 9= &1 3iud Fai@a S A H a1 g

. 28.25
2275
2525
26.25

b2 =

da o

1) 1
() 2




3) 3
(4) 4

1[Option ID=42197] Question Description : general_paper_genarel paper_set 27_english_q25
2[Option ID=42198]
3[Option ID=42199]
4[Option ID=42200]

Sl. No.26
QBID:27201026

Which logical fallacy is committed in the following statement - "I do not believe that serial killers ought to be
allowed to live. They have forfeited their right to live because anyone who kills lots of people has lost that
right".

. Hasty Generalization
. Slippery Slope

. Begging the question
Ad hominem

:l;.l.ul._;l»—t

1)1
(2) 2
(3) 3
(4) 4

Rl S & &I |1 ab &9 § - “H Ug T8l HFdl § BI Hikad §ARI ! Silfdd ¥g- a1 <oy |
Bﬁeﬂgaﬁﬁ#%mm&ﬁwwmﬁmﬁaﬁﬁ 3T eyl &1 5 IRdl ¢ 39 a8
3|'f§|a—)—|q |.-.'

1. sfgand e
2. T He-gad el
3. TS &Iy
4. ogfad faviw & forg (s siffm)
1
@ 2
3) 3
) 4

1[Option ID=42201] Question Description : general_paper_genarel paper_set 27_english_q26
2[Option ID=42202]
3[Option ID=42203]
4[Option ID=42204]

Sl. No.27
QBID:27201027

"If capital punishment actually deterred people from committing serious crimes, then it would be justified. But
as it does not have that deterrent effect, it is not a justifiable practice”. Which formal fallacy is committed in
the above argument 7

1. Affirming the consequent
2. Undistributed middle
3. Existential fallacy
4, Denying the antecedent
1) 1
(2) 2
3) 3
4) 4

“gfg 4G US aRdd | Tl o THR SIRT1Y B3 F YR ST 811, ol g8 rifed gIdT | R i
SUP1 98 MR nuE 6l 8, 76 TriTd aRardt 721 § 17 STa adb T o 61 SR adban g 2

%
3

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=42205] Question Description : general_paper_genarel paper_set 27_english_q27
2[Option ID=42206]

3[Option ID=42207]
4[Option ID=42208]

Sl. No.28
QBID:27201028




Which of the following statements are logically equivalent ?

A. Some physicists are outstanding professors.

B. Some physicists are not non-outstanding professors.

C. No outstanding professors are physicists.

D. Some non-outstanding professors are not non-physicists.

Choose the correct answer from the options given below :

1.A BandD only
2. Aand B only
3.B and D only
4. A and C only
(1) 1
(2) 2
3) 3
(4) 4

Frafafad 91 3 ey dilds $9 9 IHge § 2

A T8 NI SHY IHR AT |

B. $8 IO TR-S@F WHR Te el ¢ |

C. T ot IPY WHIR Hifpre el giar g |

D. P8 R-IPY WHHR IR-HI IR T8 8 © |

e R e © € O SR @1 9eE $iei :

1.%dd A, B 3R D
2. HAA A R B
3. %ad B 3D
4. FAd AR C

) 1

() 2

3) 3

(@) a

1[Option ID=42209] Question Description : general_paper_genarel paper_set 27_english_q28
2[Option ID=42210]
3[Option ID=42211]
4[Option ID=42212]

Sl. No.29
QBID:27201029

Which of the following statements are so related that they can not both be true but could both be false?

A. All Biologists are outstanding teachers.

B. Some Biologists are outstanding teachers.

C. No Biologists are outstanding teachers.

D. Some Biclogists are not outstanding teachers.

Choose the correct answer from the options given below :

1.B and D only
2. Aand D only
3. Aand C only
4. C and D only

(1) 1

@) 2

3) 3

4) 4




FAfaRad O U H 3 By 58 YR Yaiid ¢ [ d aH1 9 781 81 9%d & U3d &l SHd B 99 6 ¢

A 9 Siia fari Sy fRem g € |

B. 3O Gila (a3 3PP &P Bl © |

c. BIg Wi g [ Sepp e Tl gl 8|
D. 3% ild faal Sp ¥ e i g1a € |

e G e © € O SR @ 9eE STy :

1. $ad B 3R D

2. %ad A 3RD

3. Bad AR C

4. HadC HRD

(1) 1

2) 2

3) 3

(4) 4

1[Option ID=42213] Question Description : general_paper_genarel paper_set 27_english_q29
2[Option ID=42214]

3[Option ID=42215]
4[Option ID=42216]

Sl. No.30
QBID:27201030

According to classical Indian School of Logic (Nyaya) which fallacy is committed in the following statement - "The hill has fire because

it is knowable"?

. Badhita
. Anupsarhari

= —

3. Asadharana
4, Sadharana
(1) 1
(2) 2
3) 3
(4) 4

6 P IR YR TR () F SRR R SR PR W ahau § - e m e i i ag e

1[Option ID=42217] Question Description : general_paper_genarel paper_set 27_english_q30
2[Option ID=42218]
3[Option ID=42219]
4[Option ID=42220]

Sl. No.31
QBID:27201031

Given below are two statements:

Statement I : (43.25),,= (101011.01),

Statement II : (1110.111), = (14.625);o

In the light of the above statements, choose the correct answer from the options given below:

1. Both Statement I and Statement II are true.
2. Both Statement I and Statement II are false.
3. Statement I is true but Statement IT is false.
4. Statement I is false but Statement II is true.

(1)1

(2) 2

(3) 3

(4) 4




R vy
PYUTI: (43.25),, = (101011.01),

BYTI: (1110.111), = (14.625),,

IRIF FYA o AT |, Aid [SU U [ddmed| H ol IR &1 98- Bl

1L FHAIAR IS TAE |
2. PRI GHI 3ETE |
3. PYTITIE, AT YT 11 3T E |
4, PYFT A 8, Wb YT FAE |
(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=42221] Question Description : general_paper_genarel paper_set 27_english_q31
2[Option ID=42222]

3[Option ID=42223]
4[Option ID=42224]

Sl. No.32
QBID:27201032

A keylogger is an example of:

1. Trojan
2. Spyware
3. Worm
4. Logic Bomb
1
(2) 2
3) 3
(4) 4

BIANR, g UHR & ATAIIR BT 33608 2

-

SR
ard

4. Ao &g
1

) 2

(3) 3

4) 4

LT

oy

1[Option ID=42225] Question Description : general_paper_genarel paper_set 27_english_q32
2[Option ID=42226]
3[Option ID=42227]
4[Option ID=42228]

Sl. No.33
QBID:27201033

Free online encyclopaedia such as Wikipedia contain a huge number of articles. Which of the following
statements about the online encyclopaedia are correct?

A. People can search the relevant articles for a topic quickly.
B. The articles have no copyright.
C. These encyclopaedias are updated frequently.

Choose the correct answer from the options given below :

1. Aand B only
2. Aand C only
3.B and C only
4, A.Band C

1)1

(2) 2

(3) 3

(4) 4




4 Y[c TS YD o b [A@Taisar & yil am & &g e § | SHars- [ayse & dad o
fFaffadsEid s T i :

A, o 3 fawg & oy ol & e S @ 99a § |

B. T 1 DI PIURISE TEI BIATE |

C. 3 fayeI< ager uSe (SEd) [Fa o § |
Jie fer T e o @ gl St @ T ST

1. ®ad A SR B
2. Fad AR C
3. %ad B 3R C
4.A,B3RC
1) 1
(2) 2
3) 3
(4) 4
1[Option ID=42229] Question Description : general_paper_genarel paper_set 27_english_q33
2[Option ID=42230]

3[Option ID=42231]
4[Option ID=42232]

Sl. No.34
QBID:27201034

Mateh List I with List IT

LIST I (Storage Device or

Media) LIST II (Description)
d Optical storage media that uses a single spiral track and uses dual layer technology,
A [RAM L 7 : ; :
allowing high data storage capacity.
B ROM I Optical storage media that uses concentric tracks allowing writing and reading to take

place at the same time.

C. [DVD III. [Non-volatile semiconductor memory; the contents cannot be changed.

. |Volatile semiconductor memory; stores data and instructions the user 1s currently
D. DVD-RAM V. : o :
working on.

Choose the correct answer from the options given below:

. A-IV, B-III, C-I, D-II
A-L B-II, C-III, D-IV
. AL B-II, C-I, D-IV
. A-II, B-IV, C-III, D-I
1) 1
(2) 2
3) 3
(4) 4

el 191 gl 11 ¥ o Sifere

I U T

e 1 (SR gt a1 T 1 R

i i . [ TR (M) MRl HEd, Sl Tk TIsRd o AR algdl 0xd arcl

2 [MHRAMD " [Tt @1 v el &, S STET HERY & @1 SiHR UeH AT B |
o 11, |78 IPII@TE YRl HSaT ol Yl ¢! &1 JalT Bl & R S 0 & §a 1
- [ ®ROM) " [eret vd UoH @t SRl TeH A |

C. [Erdrer 1L |38 Slaarad TaRT: 59! [aug geg H Uiddd Jef (pal off 9bdl & |

b. kgt 3 v [P i eI BRI W B1eT1 T G 3ol Tferd el ¢, Ford IRyt e |
' ] PR TR |

i o 72 faeredl O | el 3T &1 90 Siforu -

. A-IV, B-III, C-I, D-II
. AL B-II, C-IIL, D-IV
. AIL B-II, C-I, D-IV
. A-II, B-IV, C-III, D-I
)1
(2) 2
(3) 3
(4) 4
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e Lo

1[Option ID=42233] Question Description : general_paper_genarel paper_set 27_english_q34
2[Option ID=42234]




3[Option ID=42235]
4[Option ID=42236]

Sl. No.35
QBID:27201035

Given below are two statements:

Statement I : Sending an email will cause a problem if the recipient is in another time zone where the time
difference is 12 hours.

Statement IT : In an Email system, Bee: stands for Black Carbon Copy.
In the light of the above statements, choose the correct answer from the options given below:

1. Both Statement I and Statement II are true.
2. Both Statement I and Statement IT are false.
3. Statement I is true but Statement IT is false.
4, Statement I is false but Statement II is true.

(1)1

(2) 2

3) 3

(4) 4

Ty iuuE:

HYT 1 : UFS SH Ui [Pl 30 FY & (STSH i) H 8 Sl & THYg &1 3R 12 6¢ &1 &, dl gl
SHT Yo 51 397 g |

PYTIL : SHA WOTEH H, Bec : BT MM &P PHla- Prot g |

IRIF FYA & AP 1, Aid [SU U f[dded| H el IR $1 98- DI

HYFIRIEH AR |

PUT IR I SH AT |

PUY 1 B, AP PUT I A& |
Y T, AP PUT I ITIE |
1) 1

() 2

(3) 3

(4) 4

O

1[Option ID=42237] Question Description : general_paper_genarel paper_set 27_english_q35
2[Option ID=42238]
3[Option ID=42239]
4[Option ID=42240]

Sl. No.36
QBID:27201036

Which of the following air pollutants make rain water acidic ?

A Nitric oxide (NO)

B. Nitrogen dioxide (NO,)
C. Nitrous oxide (N,0)

D. Carbon monoxide (CO)
E. Sulphur dioxide (SO,)

Choose the most appropriate answer from the options given below :

1.A Band E only
2.B.Cand D only
3.A.CandE only
4, A, Band C only

1) 1

(2) 2

3) 3

(4) 4




Fafarad o Y 1H 3 a1y Hgue aul ofd &1 &g &4 6 ?

A TEleH aﬁ’aﬂﬁgs'(m)
B. AIg¢oi Sl HIFIES (NO,)
C. A13¢H SHRES (N,0)
D. HIa HHIG9IES (CO)

E. JoB% STESHRITES (SO,)

i AT 7T fdoedl § ¥ e Iugdd STk D1 9 BT :

1. Hdd A, B3R E
2. %9 B, CARD
3.Pad A, C ARE
4. HAAA, B IR C

(1) 1

2) 2

3) 3

4) 4

1[Option ID=42241] Question Description : general_paper_genarel paper_set 27_english_q36
2[Option ID=42242]

3[Option ID=42243]
4[Option ID=42244]

Sl. No.37
QBID:27201037

Which among the following are Green House Gases (GHG) ?

A, Surface ozone (O3)
B. Ammonia (NH;)
C. Methane (CH,)

D. Carbon monoxide (CO)
E. Nitrous oxide (N,0)

Choose the most appropriate answer from the options given below :

1. A Band Conly
2.A, CandE only
3.B.Cand D only
4. C.Dand E only

(1) 1

2) 2

3) 3

(4) 4

FrafeiRad # | UiHered 19 (eliiugsih M A § 2

A. T8 319 (05)

B. 3{HIf-AT (NH;)

C. 11U (CHy)

D. @& AFEHES (CO)
E. A5H SHAES (N,0)

#ra feu e fawmedt o § Te s SUged SR &1 99 B ;

1.$ddA, B3R C
2. %ad A, C IR E
3.%ad B, C 3R D
4. HAAC. D IRE

) 1

@) 2

(3) 3

@) 4

1[Option ID=42245] Question Description : general_paper_genarel paper_set 27_english_q37
2[Option ID=42246]
3[Option ID=42247]
4[Option ID=42248]

Sl. No.38
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Given below are two statements:

Statement I : Passive solar systems pump a heat absorbing medium rather than storing heat in stationary
medium.

Statement IT : Solar energy can produce high temperatures even in the range of 1000°C or more.
In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both Statement I and Statement II are correct.

2. Both Statement I and Statement IT are incorrect.

3. Statement I is correct but Statement II is incorrect.
4, Statement I 1s incorrect but Statement I is correct.

1) 1
(2) 2
(3) 3
(4) 4

RSPy RuTUE:

HYF 1 : Ffcrg IR 99 ead Ty § 1 T $31 & 9ol S AR 079y S el g SR g |
BYA 11 : TR Foll TgT dd [ 1000° ¢ T 39Y 4f¥e a1 9% I= dIHH 30F R JHdl 8

SWRIK] HUH & el H, i 3T 7 fasedl & I8 Sugad SOl &1 98- HITU:

U AR IISH Tel & |
HYF IR IS TAd§ |
BT Iel 8, AT s nTEd g |
PYT LT B, AT PUT I TR |

1) 1
(2) 2
(3) 3
(4) 4

R

1[Option ID=42249] Question Description : general_paper_genarel paper_set 27_english_q38
2[Option ID=42250]
3[Option ID=42251]
4[Option ID=42252]

Sl. No.39
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Sick Building Syndrome (SBS) is associated with

1. Outdoor Air Quality
2. Indoor Air Quality
3. Water Quality

4. E-waste

1)1

(2) 2

(3) 3

(4) 4

0 g Hae (e fafes RigH - vadiy) Fa 3 ¥ o9y 996 6 2

. @lel (AH13<SR) d1g ol

1
2. SR (BASR) arg TTuTaTl
3. 1 - T[UTaT
4.3 3Ry
) 1

@ 2

@) 3

(4) 4

1[Option ID=42253] Question Description : general_paper_genarel paper_set 27_english_q39
2[Option ID=42254]
3[Option ID=42255]
4[Option ID=42256]

Sl. No.40
QBID:27201040




BOD (Biochemical Oxygen Demand) is the measure of :

1. air pollution
2. water contamination
3. soil contamination
4. dissolved oxygen of river water
1y 1
(2) 2
3) 3
(4) 4

&t off St IR Sifaito T 3 Fafafad 3 9 e 7919 & ardl § 2

1. AT HEHT
2. ST HgHUT
L
4. 941 ora H faafia sifefiem
1) 1
) 2
(3) 3
4) 4

1[Option ID=42257] Question Description : general_paper_genarel paper_set 27_english_q40
2[Option ID=42258]
3[Option ID=42259]
4[Option ID=42260]

Sl. No.41
QBID:27201041

The famous grammarian Panini had his education at :

1. Takshashila
2. Pataliputra
3. Nalanda
4. Sridhanya Katak
1 1
) 2
(3) 3
(4) 4

RIS SArRuag i = it d ford ®iM 9= g 750 &t &f 2

1. d&rfRrer
2. greferga
3. FIeial
4. JiYrg HeD
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=42261] Question Description : general_paper_genarel paper_set 27_english_q41
2[Option ID=42262]

3[Option ID=42263]
4[Option ID=42264]

Sl. No.42
QBID:27201042

The NCTE, established in 1995, is a

1. Statutory body
2. Professional organization
3. Teachers' association
4. Private organization
1) 1
(2) 2
3) 3
(4) 4
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1[Option ID=42265] Question Description : general_paper_genarel paper_set 27_english_q42
2[Option ID=42266]
3[Option ID=42267]
4[Option ID=42268]

Sl. No.43
QBID:27201043

As per NEP 2020, consider the following two statements :

Statement I : The second vertical of Higher Education Commission of India will be a 'meta accrediting body’,
called National Accreditation Council (NAC)

Statement IT : In the long run, it is envisaged that accreditation will become a binary process, as per extant
global practice.

In the light of the above statements, choose the correct answer from the options given below:

. Both Statement I and Statement II are true.

. Both Statement I and Statement IT are false.
3. Statement I is true but Statement IT is false.
4, Statement I is false but Statement I is true.

(1)1

(2) 2

(3) 3

(4) 4

T e Fifa (T, 5. d1) 2020 & IR FEfGRET $YE &R @GR S
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PYFTIRISH AT |

HYF ISR EH] 3T |
BT S, AT HYT 1 T ¢ |
HUT I I, AT FY I T T |
1) 1

(2) 2

3) 3

(4) 4
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1[Option ID=42269] Question Description : general_paper_genarel paper_set 27_english_q43
2[Option ID=42270]
3[Option ID=42271]
4[Option ID=42272]

Sl. No.44
QBID:27201044




Which of the following are the grounds on which discrimination of citizens for admission to educational
institutions in India is constitutionally prohibited?

. Religion and Race

. Sex and Place of birth
. Nationality and Colour
. Age and Nativity

Onwpe

Choose the correct answer from the options given below:

1.A,B.Cand D
2. Aand B only
3.A.BandConly
4, C and D only

1)1

) 2

3) 3

4) 4

FAfREd ¥ U3 $H-4 1R § [59d STUR 9 URd 1 Q&0 Sl 1 Yo eg AFRS! & 91y
HEHIT Bl HauTe aie J it e mang 2

A, 47 3R
B. ferT 3R =

C. YT SR T
D. 3T 3R 54

i fau U fashedl & ¥ et IR T 99 Bifolu :

1.LA,.BC3RD
2. %ad AR B
3.%ad A, B3R C
4.%ad C IRD
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=42273] Question Description : general_paper_genarel paper_set 27_english_q44
2[Option ID=42274]

3[Option ID=42275]
4[Option ID=42276]

Sl. No.45
QBID:27201045

National Board of Accreditation (NBA) is entrusted with ensuring quality assurance in the disciplines of

A. Humanities

B. Architecture

C. Engineering and Technology
D. Natural Sciences

E. Management

Choose the correct answer from the options given below :

LA, C,Dand E only
2.B.CandE only
3.B.C.Dand E only
4. C,D and E only

1) 1

) 2

(3) 3

(4) 4




RIS YA SIS I Fafafed fi fawl & T - STy o1 GRfYd S o1 SR A g 2

A OHE[ED!

B. ¥ (AP

C. SRt 3R grEnfiet
D. Wigpfad faqrT

E. U4
14 fau Tt fdeedl O 9§ 9l 3R &1 98- DI .

1.Hdd A, C.D IR E
2.%dd B, C ARE
3.9du B, C, D, E
4.HAAC, D IRE
1) 1
(2) 2
3) 3
(4) 4
1[Option ID=42277] Question Description : general_paper_genarel paper_set 27_english_q45
2[Option ID=42278]

3[Option ID=42279]
4[Option ID=42280]

Sl. No.46
QBID:27201046
Read the following passage and answer the question :

Landlocked countries, regions with diseases that are difficult to control or cure, and areas that are very far
from major markets for their goods are all at a developmental disadvantage - and this disadvantage was
probably greater in an earlier era, when medical knowledge was limited and transportation and
communications costs were much higher. By virtue of weather and disease, tropical environments in particular
may be less conducive to urbanization and industrialization than temperate zones. Some scholars ascribe a
substantial portion of the developmental problems of tropical regions like sub-Saharan Africa, for example, to
geography itself.

But geographic factors cannot be the whole story, as there is a great deal of variation among countries within
the same regions. Indeed, if we compare less developed countries - that have very similar geographic
characteristics, we find that some have done extremely well, while others have done very poorly. While the
climate and geography of a nation shape its development, they do so by way of their impact on the people,
social structures, politics, and policies of the nation.

fgfafad meiw @1 ue 3Ry &1 3w 3N

RS 4¥, d &7, [ JHIal uR FE= uen a1 31 ST 31 BiH g, SR U &, SS9 Hid
(g3 o Forg e SToIRY § St R €, fawr Fael sramy 1 Rl BT €, SIR 7% Sy wad)

dadl B1d § gour U1, o1d g 9 WiHd U1 $ik IRas- U4 99R 31 aFld 95d S=IeR o1 | 3 H
éﬁimﬁ%&@mé?wwm [GRIveY G CaH Gaiavul, RdIoT & &1 e o, TRIBN 3R
SR & Ul HH Ge® Bid € | $% Jreidiel 1 7T ¢ b Ta-98RT il ol Swis e
&3 & Fareu T fasr Jat Srwedl & T He@yul 4 &1 SR W i ¢ |

dfes Hifere SRS T90l HeF! Tl a9l Tdd, Fifd tega a7 & Hidw 2w & srafds fafimarg |
afe &n, aead &, g9H fagiwarat ard &H fawfid S ST qeT A d gH UId § T oo Swi A
HAES = 3! Ul U 1 ¢, Jaid 37 &% e AR B |

Safe [l 3% ®1 Saary SR 177 SHS [GHH B PR &d 5. d U1 39D ATl 1D W=7,
R SR il o= yuTa STaeR $Rd § |

Given below are two statements:

Statement I : Tropical regions seem to have more favourable conditions for the growth of industrialization
than the temperate regions.

Statement IT : Geographic factors alone determine the development of a nation.
In the light of the above statements, choose the correct answer from the options given below:

Both Statement I and Statement IT are true.
Both Statement I and Statement IT are false.
3. Statement I is true but Statement IT is false.
4, Statement I 1s false but Statement II 1s true.

1) 1

b




) 2
3) 3
(4) 4

= & A kg g & )
WI:W@Q&,WHﬁwﬁWﬁmﬁmaﬁﬁwww
PRIGEGES

PYTII : 3fda UFNeTs FRS TP 3 & gy o Fuikd azd € |

SRIF FYH & A 1, At S0 T8 f[ddedi H I gl 3R &I 99 DIE:

BRI 9 |

L HUF 1 IR IS 3T E |

PUT I TT S, AP HUT 11 3T T |
4. PUTI T e, APTPUT I TAE |

(1) 1

(2) 2

(3) 3

4) 4

LIS T SR

1[Option ID=42281] Question Description : general_paper_genarel paper_set 27_english_q46
2[Option ID=42282]
3[Option ID=42283]
4[Option ID=42284]

Sl. No.47
QBID:27201047
Read the following passage and answer the question :

Landlocked countries, regions with diseases that are difficult to control or cure, and areas that are very far
from major markets for their goods are all at a developmental disadvantage - and this disadvantage was
probably greater in an earlier era, when medical knowledge was limited and transportation and
communications costs were much higher. By virtue of weather and disease, tropical environments in particular
may be less conducive to urbanization and industrialization than temperate zones. Some scholars ascribe a
substantial portion of the developmental problems of tropical regions like sub-Saharan Africa, for example, to
geography itself.

But geographic factors cannot be the whole story, as there is a great deal of variation among countries within
the same regions. Indeed, if we compare less developed countries - that have verv similar geographic
characteristics, we find that some have done extremely well, while others have done very poorly. While the
climate and geography of a nation shape its development, they do so by way of their impact on the people,
social structures, politics, and policies of the nation.

fgfafad Teiw @1 u¢ iRy &1 S 3N

TG 591, 3 &7, ford Sl R FriEe umn g1 391 3o &3 &feH 8, SR U 84, &t 3= 31
@& F T T TR Sr@fie R €, ooy e sy & fRufa 8 §, 3R g% sy wyad

dadl o1 § gouR U1, od fHfdeig 9 fHd o1 $ik URas- Ud 99R 31 aFld §gd S=eR o1 | 3 H
iﬁiﬁﬁﬁ@ﬁ%ﬁwﬁ?wmr [ARIveR I icad gafarur, dron &7 &1 goHl §, TRIGI0 3R
AR & Ul & 98E® B ¢ | $© Sedrsl & Ul ¢ o 98-TgRT MBIl oid SWreicad
&7l & Fareru ¥ [ao s d 9Hw1s & U He@yul YN &1 SRU W WId § |

difep Uifeie HRe T9ul HeF! Tl a9l Tad, i teaa &7 & Hide 2xf & srafds fafimar g |
ofe &n, aad &, gaH fagiwarat ard oH fawfRia S P qe T e di gr ud § 6 oo 3= A
e U ! fufa urd @ B, 9afd 30 2w 3afie $HoiR w g |

Safes et 3= 1 Sean SR I SUS AP B SIHR T &, § T 39S A1, I Gxa-si,
RTeTifa iR e o g STaeR HRd § |

Climate and geography of a place greatly influence its:

Policies

People

Politics

Social structures

Onwpr

Choose the correct answer from the options given below:

1. A, B and C only
2.B.Cand D only
3.A,Band D only
4, A B.CandD

1 1




) 2
3) 3
(4) 4

TP W 31 Saarg SR Ha STt 3 el ol guIfad a3d & 2

A Aifagi

B. &Nl

C. I

D. ATHINE Gg-1d

i feu e famedl H 9§ T8l 3R &1 99 DIl ;

1.®ad A, B3R C
2. %adA B, C AR D
3.%dd A, B 3R D
4.A,B,C3RD
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=42285] Question Description : general_paper_genarel paper_set 27_english_q47
2[Option ID=42286]

3[Option ID=42287]
4[Option ID=42288]

Sl. No.48
QBID:27201048 .
Read the following passage and answer the question :

Landlocked countries, regions with diseases that are difficult to control or cure, and areas that are very far
from major markets for their goods are all at a developmental disadvantage - and this disadvantage was
probahly greater in an earlier era, when medical knowledge was limited and transportation and
communications costs were much higher. By virtue of weather and disease, tropical environments in particular
may be less conducive to urbanization and industrialization than temperate zones. Some scholars ascribe a
substantial portion of the developmental problems of tropical regions like sub-Saharan Africa, for example, to
geography itself.

But geographic factors cannot be the whole story, as there is a great deal of variation among countries within
the same regions. Indeed, if we compare less developed countries - that have very similar geographic
characteristics, we find that some have done extremely well, while others have done very poorly. While the
climate and geography of a nation shape its development, they do so by way of their impact on the people,
social structures, politics, and policies of the nation.

fgfefad Teiw @1 u¢ 3R Uy &1 3w I

TG o9, 3 &, T Il wR FriEe e 91 399 5 S ©ieH B, SR U &9, 9 3mH ard
(@) & AU v SeRT ¥ A ive o 8, [aom da sramy & Rufd 1 §, ok gs sy dvad

dadl B1d § ggaR o1, o/d fafdedig 9 Wfid ¥1 31k uRas Ud 99R &1 arTd agd SoeR of | 2™
%Mﬁ%ﬁwﬁ?mﬁ@wmeﬂw,mmaﬁwﬁmaﬁ?
RO & Ul 0 98P 8 & | o el & HFHT ¢ [ 98-TeRT S1p1P] oY SWrbicst
&7l & FareRu 1 [aeTy e grgie & U He@yqul I &1 $RU @ I § |

dfee Uifeis SRS T90l deF! Al a¥f Iod, Fifd tega 831 & Hidw 2xif § srafds fafimarg |
ofe; gm, arda &, 99 fordraarstt aret w0 fasfa 9 Bt e s dl en U € 5 o 3w
SHAAD 9 9 =t (RUf v 1 8, Faid 3 3% SIAfi® HHAR W/ 6 |

Safe fdl 321 &1 aary SR W S8 [dH™ B SR &d 3, d U1 39D A, T Sea-Tsi],
oI 3R ifeEt TR e SeR FRA € |

Given below are two statements: One is labelled as Assertion A and the other is labelled as Reason R.

Assertion A : The developmental disadvantage of landlocked countries was far greater in earlier times.
Reason R : Transportation and communication costs in earlier times were much higher.
In the light of the above statements, choose the most appropriate answer from the options given below:

. Both A and R are correct and R is the correct explanation of A.

. Both A and R are correct but R is not the correct explanation of A.
. A is correct but R iz not correct.

. A 1s not correct but R is correct.

da Lo b2 =




1) 1
(2) 2
(3) 3
(4) 4

:ﬁ—i}@lmﬂﬁqw% TS HUHY (Assertion A) & =9 H [IRGd § I GHI 3HP BRI (Reason R) &
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PBIUIR : aﬂﬁﬁqﬁaﬁﬂaﬂ?wmﬁmmda@ﬂommﬁl
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3.AVGI e PR TGl Tl © |
4 AT TSI e AT R TR B |
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1[Option ID=42289] Question Description : general_paper_genarel paper_set 27_english_q48
2[Option ID=42290]
3[Option ID=42291]
4[Option ID=42292]

Sl. No.49
QBID:27201049
Read the following passage and answer the question :

Landlocked countries, regions with diseases that are difficult to control or cure, and areas that are very far
from major markets for their goods are all at a developmental disadvantage - and this disadvantage was
probably greater in an earlier era, when medical knowledge was limited and transportation and
communications costs were much higher. By virtue of weather and disease, tropical environments in particular
may be less conducive to urbanization and industrialization than temperate zones. Some scholars ascribe a
substantial portion of the developmental problems of tropical regions like sub-Saharan Africa, for example, to
geography itself.

But geographic factors cannot be the whole story, as there is a great deal of variation among countries within
the same regions. Indeed, if we compare less developed countries - that have very similar geographic
characteristics, we find that some have done extremely well, while others have done very poorly. While the
climate and geography of a nation shape its development, they do so by way of their impact on the people,
social structures, politics, and policies of the nation.

fgfafad Teiw @1 u¢ iRy &1 S 3N

WG 591, 3 &7, fomd Sl R FiEe umn g1 391 3o &3 &feH 8, 3R U 84, 5t 3= a1
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&3 & Fareu T fasr Jat Srwedl & T He@yul 4 &1 SR W i ¢ |

difep Uifeie HRe T9ul HeF! Tl a9l Tad, i teaa &7 & Hide 2xf & srafds fafimar g |
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Saf fdl 331 BT Taary SR 177 SHP [GH™ Bl PR &d 5. d T 39D ATl AT SRE131],
RToTifar iR i TR e STeeR B § |

Given below are two statements:

Statement I : All countries in the tropical region have performed very poorly in terms of development.
Statement II : Tropical regions seem to have disease prone environments.
In the light of the above statements, choose the correct answer from the options given below:

1. Both Statement I and Statement II are true.

2. Both Statement I and Statement II are false.

3. Statement I is true but Statement II 1s false.

4, Statement I is false but Statement II is true.
(1) 1




) 2
3) 3
(4) 4
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(1) 1
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1[Option ID=42293] Question Description : general_paper_genarel paper_set 27_english_q49
2[Option ID=42294]
3[Option ID=42295]
4[Option ID=42296]

Sl. No.50
QBID:27201050

Read the following passage and answer the question :

Landlocked countries, regions with diseases that are difficult to control or cure, and areas that are very far
from major markets for their goods are all at a developmental disadvantage - and this disadvantage was
probably greater in an earlier era, when medical knowledge was limited and transportation and
communications costs were much higher. By virtue of weather and disease, tropical environments in particular
may be less conducive to urbanization and industrialization than temperate zones. Some scholars ascribe a
substantial portion of the developmental problems of tropical regions like sub-Saharan Africa, for example, to
geography itself.

But geographic factors cannot be the whole story, as there is a great deal of variation among countries within
the same regions. Indeed, if we compare less developed countries - that have very similar geographic
characteristics, we find that some have done extremely well, while others have done very poorly. While the
climate and geography of a nation shape its development, they do so by way of their impact on the people,
soecial structures, politics, and policies of the nation.
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Which of the following places are at a developmental disadvantage ?

A. Landlocked countries
B. Regions with diseases that are easy to control or cure.
C. Places that are far from major markets for their goods.

Choose the most appropriate answer from the options given below :

A and B only
B and C only
A and C only
A BandC

A By

1 1
) 2
(3) 3




(4) 4
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1[Option ID=42297] Question Description : general_paper_genarel paper_set 27_english_q50
2[Option ID=42298]
3[Option ID=42299]
4[Option ID=42300]

Paper II : 23-Oriya

Sl. No.1
QBID:123001

PETE 984 6R61T QIRER AGQLC, QIS AAIR ?

1.916¢
2. 28e
3. RS I-LYBRAIY

4. 26 I-4d1d
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=42701] Question Description : odia_odia_set 1_oriya_q1
2[Option ID=42702]

3[Option ID=42703]
4[Option ID=42704]

Sl. No.2
QBID:123002
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1. Y
2. A
3. 6410691

4.6d81Q1
(1) 1
2) 2
(3) 3
(4) 4
1[Option ID=42705] Question Description : odia_odia_set 1_oriya_q2
2[Option ID=42706]

3[Option ID=42707]
4[Option ID=42708]

Sl. No.3
QBID:123003
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1[Option ID=42709] Question Description : odia_odia_set 1_oriya_q3
2[Option ID=42710]

3[Option ID=42711]
4[Option ID=42712]
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1[Option ID=42713] Question Description : odia_odia_set 1_oriya_q4
2[Option ID=42714]
3[Option ID=42715]
4[Option ID=42716]
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1[Option ID=42717] Question Description : odia_odia_set 1_oriya_q5

2[Option ID=42718]
3[Option ID=42719]
4[Option ID=42720]
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4[Option ID=42724]
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1[Option ID=42725] Question Description : odia_odia_set 1_oriya_q7
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1[Option ID=42729] Question Description : odia_odia_set 1_oriya_q8
2[Option ID=42730]
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4[Option ID=42732]
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1[Option ID=42733] Question Description : odia_odia_set 1_oriya_q9
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4[Option ID=42736]
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1[Option ID=42741] Question Description : odia_odia_set 1_oriya_q11
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1[Option ID=42745] Question Description : odia_odia_set 1_oriya_q12
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1[Option ID=42753] Question Description : odia_odia_set 1_oriya_q14
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1[Option ID=42757] Question Description : odia_odia_set 1_oriya_q15
2[Option ID=42758]
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1[Option ID=42761] Question Description : odia_odia_set 1_oriya_q16
2[Option ID=42762]

3[Option ID=42763]
4[Option ID=42764]

Sl. No.17
QBID:123017




]

feclle FRIQ 666G QIAEQ AGINIR QA QS ?

1. QIQIGFQ|
2. 91909 QS|
3. QI9E QQIR
4. QAR

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=42765] Question Description : odia_odia_set 1_oriya_q17
2[Option ID=42766]

3[Option ID=42767]
4[Option ID=42768]

Sl. No.18
QBID:123018

Qeclle FRIQ 666 QORIT  QIRQIST QT ’ 4eNa QIR Q& ?

1. AYQIQ1 Q1 QINBSIAIR
2. ARSI
3. @1e9ge

4. dI910 @ @@dIQ|

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=42769] Question Description : odia_odia_set 1_oriya_q18
2[Option ID=42770]

3[Option ID=42771]
4[Option ID=42772]

Sl. No.19
QBID:123019
L

6ROG ARG BQERIQ AR KGRI QL ?

1.Qe9RI
2. Gerriq 9
3. QeIfeq 99
4. Q191991 QAT

(1) 1

(2) 2

(3) 3

4) 4

1[Option ID=42773] Question Description : odia_odia_set 1_oriya_q19
2[Option ID=42774]
3[Option ID=42775]
4[Option ID=42776]

Sl. No.20
QBID:123020




D1 G969 Q661 98 69F1 AR, TS 22 A6RIa PSR ¢ 69FIE QFIf 66X — AF TRS 6a6
QA0 IQ YEIEEY ?

1. 2R QYR
2.6611QQ Gl
3. Qe

4. Q90 651IUP
(1) 1

2) 2

(3) 3

(4) 4

1[Option ID=42777] Question Description : odia_odia_set 1_oriya_q20
2[Option ID=42778]
3[Option ID=42779]
4[Option ID=42780]

Sl. No.21
QBID:123021

6a0% 6dIQIGN QAR F9F 1Y RIF9R| Q6% ?

1. eIl
2. SIQeR!
3. A9l
4. ORR|
(1) 1

2) 2

3) 3

(4) 4

1[Option ID=42781] Question Description : odia_odia_set 1_oriya_q21
2[Option ID=42782]
3[Option ID=42783]
4[Option ID=42784]

Sl. No.22
QBID:123022

HESIQ1 OQE QAR 'AICRIT TR AR 6RA AR QANYIQ ?

1. QIR6Q5a
2. QG9CRe
3600019912 G&e
4.Q01ge

(1) 1

2) 2

(3) 3

4) 4

1[Option ID=42785] Question Description : odia_odia_set 1_oriya_q22
2[Option ID=42786]
3[Option ID=42787]
4[Option ID=42788]

Sl. No.23
QBID:123023




SIPIR1R 9O QUMIIR PINE 64 ?

1. FRJQOQ QI
2. 65199 QI
3. AIR6QQ Q1

4. 98919

1) 1

(2) 2

3) 3

(4) 4

1[Option ID=42789] Question Description : odia_odia_set 1_oriya_q23
2[Option ID=42790]

3[Option ID=42791]
4[Option ID=42792]

Sl. No.24
QBID:123024

2SR IR RILIEIN GPIAQRR VI &g ?

1. 2QYeIee 98

2. 66Q1x @4
3. CI6&IGQ Fig)
4. QBRI 6QELRNI
(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=42793] Question Description : odia_odia_set 1_oriya_q24

2[Option ID=42794]
3[Option ID=42795]
4[Option ID=42796]

Sl. No.25
QBID:123025

G61]19 606! 6RGIR 60001 9R0R ArgSe J56a AR @R ¢If 6RFaE ?

1. QIFI9Q 6Q62al
2. AR QIR
3.996q4 agl

4.99100 Q101

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=42797] Question Description : odia_odia_set 1_oriya_q25
2[Option ID=42798]

3[Option ID=42799]
4[Option ID=42800]

Sl. No.26
QBID:123026

‘QORERIR B QEIRIE dUfa F521de QRQA’ - JIR9 QORI FY ?

1. QIgEQQ QIg
2. QRQAIQ AIQ
3. Q608 QIR

4. Qg 89
(1) 1




(2) 2

3) 3

(4) 4

1[Option ID=42801] Question Description : odia_odia_set 1_oriya_q26
2[Option ID=42802]

3[Option ID=42803]
4[Option ID=42804]

Sl. No.27
QBID:123027

1. QY8 @A AR
2.69Q1 999 QIR
3.994 99IQ AR

4. d6@9@ F1L1dIQ

(1) 1

(2) 2

3) 3

4) 4

1[Option ID=42805] Question Description : odia_odia_set 1_oriya_q27
2[Option ID=42806]

3[Option ID=42807]
4[Option ID=42808]

‘Al IR VISP AQNRR’ — Y2 RIQIRQ ARG IR ?

Sl. No.28
QBID:123028

URAITH AQ’ 606 QIER F1OO QT6R ARIAS ?

1. 691IQQR 691
2. FIQBAIRR 6011
3. Q9qE ORI

4. €lIRQ1 6QRIN

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=42809] Question Description : odia_odia_set 1_oriya_q28
2[Option ID=42810]

3[Option ID=42811]
4[Option ID=42812]

Sl. No.29
QBID:123029

‘ARe”’ R UIRIQR! ?

. @IR10NE] B LR
2. 7169 QG Ql9
3. 661dIe 6819l

4. QE&69IQ AR RIYe
(1) 1
(2) 2
3) 3
4) 4

1[Option ID=42813] Question Description : odia_odia_set 1_oriya_q29

2[Option ID=42814]
3[Option ID=42815]
4[Option ID=42816]

Sl. No.30
QBID:123030




RNIAART QTR ROAR @ ?

1. QISR QY
2. QRN JEIR
3. QIR 89
4. QOIEQI2Q QIR
(1) 1
2) 2
3) 3
(4) 4

1[Option ID=42817] Question Description : odia_odia_set 1_oriya_q30
2[Option ID=42818]
3[Option ID=42819]
4[Option ID=42820]

Sl. No.31
QBID:123031
b

660G AMPIRIEQA! KIDIE1 ARIIAG IR Q6% ?

1. 919 a6
2. IeIoa
3. QIR gREIIAFIEQ
4. QI

(1) 1

2) 2

3) 3

(4) 4

1[Option ID=42821] Question Description : odia_odia_set 1_oriya_q31
2[Option ID=42822]
3[Option ID=42823]
4[Option ID=42824]

Sl. No.32
QBID:123032

‘FR B AAL” 600 UQEIQ Q& ?

1. @IF'&
2. @l
3.01g

4. RIFR|
1) 1
(2) 2
3) 3
(4) 4
1[Option ID=42825] Question Description : odia_odia_set 1_oriya_q32
2[Option ID=42826]

3[Option ID=42827]
4[Option ID=42828]

Sl. No.33
QBID:123033

6666 q1d6, aIfcya Ao Heiada ARG 62IRAIGe QI ?

1. 2818 QUL RS

2. AQAQQ!

3.6G980 QYRGS
4. GRS

1) 1
) 2




3) 3
4) 4

1[Option ID=42829] Question Description : odia_odia_set 1_oriya_q33
2[Option ID=42830]
3[Option ID=42831]
4[Option ID=42832]

Sl. No.34
QBID:123034

6AG 6QIAIER 2BLIRARN Y& GId 62IRTIER ?

1. AIQQI€T (PARNASSIAN) 2621
. JOIRQIQ1 Zl6RIpe
EalniInlalla) Rl ]~

4. AIRQQIQ1 ABLIRSD

(1)1
(2) 2
(3) 3
(4) 4

[§=]

¥y

1[Option ID=42833] Question Description : odia_odia_set 1_oriya_q34
2[Option ID=42834]
3[Option ID=42835]
4[Option ID=42836]

Sl. No.35
QBID:123035

UPRIQIER 600G e RIMAIRQ @Rl ?

<
1. Q1Y)

<=
2. QSYIe]
3. QYepyIel

4. Qe

1) 1

(2) 2

3) 3

(4) 4

1[Option ID=42837] Question Description : odia_odia_set 1_oriya_q35
2[Option ID=42838]

3[Option ID=42839]
4[Option ID=42840]

Sl. No.36
QBID:123036

QRS 6090 B FAISQARISG AR 666 AISLISY AIRAYR QIR F688Q ?

1.QIQIQIQ
2. AV
3.29QQlQ

4. QI0QQIQ
1) 1
(2) 2
3) 3
(4) 4
1[Option ID=42841] Question Description : odia_odia_set 1_oriya_q36
2[Option ID=42842]

3[Option ID=42843]
4[Option ID=42844]

Sl. No.37
QBID:123037




§e AHQA0 B & UIEER 661G YO1Q QAF 6AITEr 6RGTT ?

1. QUGN @V (Taboo)
2. gRUEIQ|S (Myth)
3. QI8 @AY (Text)

4. Q19 QVYK (Magic)

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=42845] Question Description : odia_odia_set 1_oriya_q37
2[Option ID=42846]

3[Option ID=42847]
4[Option ID=42848]

Sl. No.38
QBID:123038

QIFQR RN ‘QRAE’ A2 F¢] 660 QIR ALY Q&E ?

1.680Q
2. NRFIR

3. QEIER QR
4. QI8P

(1) 1

(2) 2

3) 3

4) 4

1[Option ID=42849] Question Description : odia_odia_set 1_oriya_q38
2[Option ID=42850]

3[Option ID=42851]
4[Option ID=42852]

Sl. No.39
QBID:123039

‘QEGE ARE ATRIF QU QA :

1. Q20 02l REA!

2. el Qeal

3. Q00 @2l QIR
4. Y @2l QLN

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=42853] Question Description : odia_odia_set 1_oriya_q39
2[Option ID=42854]

3[Option ID=42855]
4[Option ID=42856]

Sl. No.40
QBID:123040

UAIQIR (ritual) § FNINS QLQIES §-I 16 69RT6R ?

1. AR 21966
2. 60619 OF 6XAQ
3. Qaa dda

4. 23R @119
(1) 1




(2) 2

3) 3

(4) 4

1[Option ID=42857] Question Description : odia_odia_set 1_oriya_q40
2[Option ID=42858]

3[Option ID=42859]
4[Option ID=42860]

Sl. No.41
QBID:123041

QEC]I@ 66R FR9RG QIS QNI BFalg AIQE ?

A. 22l
B. 2o
C.alg
D. 2FIR

Oe atla 6alad aa :

4.BBC
1) 1
(2) 2
3) 3
4) 4
1[Option ID=42861] Question Description : odia_odia_set 1_oriya_q41
2[Option ID=42862]

3[Option ID=42863]
4[Option ID=42864]

Sl. No.42
QBID:123042

feclle 606 sR9nG 0QiisISRIen §oIY 9ad ATQIA Q6T QUQYE ?

A. Q€ 62
B.6Q

C. Q169Q
D. 2l

Oa aka §alad o :

1.BBC
.CBD
.DBA

4.AGB
1
(2 2
(3) 3
4 4

[§=]

(W8]

1[Option ID=42865] Question Description : odia_odia_set 1_oriya_q42
2[Option ID=42866]
3[Option ID=42867]
4[Option ID=42868]




Sl. No.43
QBID:123043

664 QRR4 A4 Q101 QIS G ?

A Rlue Q1Y

B. @cI@ el Ql4
C. @@owsl @19
D. f12169Q Q4

O aaa Halad aa :

1[Option ID=42869] Question Description : odia_odia_set 1_oriya_q43
2[Option ID=42870]
3[Option ID=42871]
4[Option ID=42872]

Sl. No.44
QBID:123044

666 90F 240 1% QO ?

A QSR
B. 0g6ll @l

C. §isisQdll
D. N0

0a 06Q 6810 a9 :

1.AGB
2.BGBC
3.C08D

4.ABD
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=42873] Question Description : odia_odia_set 1_oriya_q44
2[Option ID=42874]

3[Option ID=42875]
4[Option ID=42876]

Sl. No.45
QBID:123045




666 QG gald A2I6RQ Q9T Q19 QS ?

A QIFIR gQulel
B. @& gQulél

C. FlIN68S 96l
D. €QQQI¢

06 aea 6810 a9 :

1.LAGB
2, BAL
3.€8D

4.DBA
(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=42877] Question Description : odia_odia_set 1_oriya_q45
2[Option ID=42878]

3[Option ID=42879]
4[Option ID=42880]

Sl. No.46
QBID:123046
N

Q] FRIQ 606 RIQIGLR OIS FI2IRR Q6L ?

A QQYIQ ¢I8
B. 661IQIQ G2
C.QQla

D. 661QI9R

0a aea 68108 a9 :

1. AGB
2.BEE
3.480D

4 DGBA
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=42881] Question Description : odia_odia_set 1_oriya_q46
2[Option ID=42882]

3[Option ID=42883]
4[Option ID=42884]

Sl. No.47
QBID:123047




660 9R06dd AR Q216 4G 62IREARI  ?

A Q6QJQ2I 699
B. BG$ll 605G 699

C. 2181 69
D. 6@ 6Q9

0a a6 6810 a9 :

1.AGB
2. BBC
3.€8D

4.DBA
(1) 1
(2) 2
3) 3
4) 4
1[Option ID=42885] Question Description : odia_odia_set 1_oriya_q47
2[Option ID=42886]

3[Option ID=42887]
4[Option ID=42888]

Sl. No.48
QBID:123048

666 QA6 99 ARG AR QIR AGD ?
A 2o
B. 4QAgRIS!
C. SIGAIQ
D. Y0 B IYE

o6 aea Salad o :

1[Option ID=42889] Question Description : odia_odia_set 1_oriya_q48
2[Option ID=42890]
3[Option ID=42891]
4[Option ID=42892]

Sl. No.49
QBID:123049




660G 9Fa AR g AgIF Yooy ?

A. QI
B. 6611Q1QI2Q QIR
C. QR

D. 629101

0@ 0eQ 68108 a9 :

1. AGB
2.BBD
3.4680D

4. ABC
(1)1
(2) 2
(3) 3
(4) 4

1[Option ID=42893] Question Description : odia_odia_set 1_oriya_q49
2[Option ID=42894]
3[Option ID=42895]
4[Option ID=42896]

Sl. No.50
QBID:123050

_dIag QIOea® 666 Q06 849 99 AIRINS A2 ARIGS ?

A QTRING

B. 2QQIQQ

C.9Qe

D.62 908 | Q2 Q¢

08 Qa9 6810 a9 :

1. AGB
BB
8D

4. DBA
(1)1
(2) 2
(3) 3
(4) 4

[

d

1[Option ID=42897] Question Description : odia_odia_set 1_oriya_q50
2[Option ID=42898]
3[Option ID=42899]
4[Option ID=42900]

Sl. No.51
QBID:123051




667 NG Q198 A9R G TR ?

A 998 QIQgIg
B. QG0IQ Q&N
C.2ggaalo

D. AQIa QIR

0@ 0eQ 68108 a9 :

4. ABD

(1) 1

2) 2

(3) 3

(4) 4

1[Option ID=42901] Question Description : odia_odia_set 1_oriya_q51
2[Option ID=42902]

3[Option ID=42903]
4[Option ID=42904]

Sl. No.52
QBID:123052

QEC]I@ 666 QR4 FIge JI91R sQlaael G RIQ16R aag@'@ aQ og 6adaee ?

A. Q6911 O QIQ
B. Q6Q49Q 6Q624
C. QIS8 F191Q

D. 2YQI00 A%

O0e aea 6810 a9 :

1.LAGB
2.DGC
3.BGD

4. ABC
(1) 1
(2) 2
3) 3
4) 4
1[Option ID=42905] Question Description : odia_odia_set 1_oriya_q52
2[Option ID=42906]

3[Option ID=42907]
4[Option ID=42908]

Sl. No.53
QBID:123053




G6€]1@ 666 QUMY AUFOL 6QERIR & ?

A €18Q QUEad

B. @08 @0

C. Q% 9999 6Q@
D. Qe 9d6@ QI

0@ 0eQ 68108 a9 :

4,ABD
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=42909] Question Description : odia_odia_set 1_oriya_q53
2[Option ID=42910]

3[Option ID=42911]
4[Option ID=42912]

Sl. No.54
QBID:123054

607  QAUMIQAYLR FIYRD QAR RIQRVRR ?

A. 09
B. 961G 98
C.soiee 9o
D.2Q 2%

0@ 06Q 6810 a9 :

1.AGB
2.B@E
3.468D

4. DGA
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=42913] Question Description : odia_odia_set 1_oriya_q54
2[Option ID=42914]

3[Option ID=42915]
4[Option ID=42916]

Sl. No.55
QBID:123055




606 QA& 260 FIRGIQR QORI ?

A QRRIQ
B. 9RISIE
C.Q919 9§
D. 9109

0@ 0eQ 68108 a9 :

1. AGB
2.B3C
3.4680D

4. ABD

(1) 1

2) 2

(3) 3

(4) 4

1[Option ID=42917] Question Description : odia_odia_set 1_oriya_q55
2[Option ID=42918]

3[Option ID=42919]
4[Option ID=42920]

Sl. No.56
QBID:123056

667 o8 990 QAIQ ISR QD ?

A TYE B AAL°QH

B. §Q0a¢R AGaa raie
C. QIR QIFI6R 68

D. 966 6% Qe

O aea falad o :

4.DBA
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=42921] Question Description : odia_odia_set 1_oriya_q56
2[Option ID=42922]

3[Option ID=42923]
4[Option ID=42924]

Sl. No.57
QBID:123057




666 QG QSRR FRISR AFIBRION] QIR ?

A 8G4IQ eQleusT
B. Q9e G QAIGeY

C. UG IR GASER
D. Y6 8 AISSY

06 0ea 6810 a9 :

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=42925] Question Description : odia_odia_set 1_oriya_q57
2[Option ID=42926]

3[Option ID=42927]
4[Option ID=42928]

Sl. No.58
QBID:123058

666 QG 919d A Q¢ Qae ?

A QR © QY
B. QI6FIQ) 6911QIQQ!1

C. (169l 950
D. Qi€ G61@

06 069 6810 a9 :

1.AGB
2.BBC
3.C8D

4.ABD
1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=42929] Question Description : odia_odia_set 1_oriya_q58
2[Option ID=42930]

3[Option ID=42931]
4[Option ID=42932]

Sl. No.59
QBID:123059




_—

666 Qa6 AFARAINFR QTR ?

A. 6Q6R1
B. QFI@
C. Q1
D. €115

0@ 0eQ 68108 a9 :

1.ABGD
2.B3C
3.ABC

4. DGB
(1) 1
2) 2
(3) 3
(4) 4
1[Option ID=42933] Question Description : odia_odia_set 1_oriya_q59
2[Option ID=42934]

3[Option ID=42935]
4[Option ID=42936]

Sl. No.60
QBID:123060

RPN GEEe QAR IRIRa] ?

A. 66115~ Q8N
B. 4G QQI9
C. Q¢

D. €PRE]

0@ Qe 68108 a9 :

1.BBD
2.ABC
3.4680D

4. AGB
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=42937] Question Description : odia_odia_set 1_oriya_q60
2[Option ID=42938]

3[Option ID=42939]
4[Option ID=42940]

Sl. No.61
QBID:123061




664 QRE @eIQlY AR QISR |

A. QN9 9O
B. 040 QR4S
C.gas! QaQ1

D. AQI668 6RIS

0@ 0eQ 68108 a9 :

1.ABD
2.B3C
3.C38D
4. AGB

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=42941] Question Description : odia_odia_set 1_oriya_q61
2[Option ID=42942]

3[Option ID=42943]
4[Option ID=42944]

Sl. No.62
QBID:123062

660 QNG 69T AER AVE ?

A QRS QI 6RIAR QORI
B.€, 0,9, @ 94da 02 Q4R

C. 9199100
D.3q8 galse o

o6 aea Salad o :

1.LBBC
2.DGB
3.DBA

4. ABC
1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=42945] Question Description : odia_odia_set 1_oriya_q62
2[Option ID=42946]

3[Option ID=42947]
4[Option ID=42948]

Sl. No.63
QBID:123063




'Lyrical Ballads' 90| 96 Q2 666 Qa0é 6Qdle rfa ?

A. BRae gIeqgid

B. AN 65RQ @EQAR,
C. 69 279,

D. GIQEa &6,

0@ 0eQ 68108 a9 :

4. DGA
(1) 1
2) 2
(3) 3
(4) 4
1[Option ID=42949] Question Description : odia_odia_set 1_oriya_q63
2[Option ID=42950]

3[Option ID=42951]
4[Option ID=42952]

Sl. No.64
QBID:123064

6TIRERING YFJE GRAUNIRASER QSIS F. 20 666 QRTR AEQs FG8E ?

A, QG"‘E‘T@TE} @ (Performing Art)
B. Q@9 <'YG (Material Culture)

C. 6mIa @19 (Folk games)

D. 6Qln @@ (Folk life)

Oa aee 581ad aa :

1.BGE
JZBD
.AGB

4.AGD
11
) 2
(3) 3
4) 4

[§=]

[F%)

1[Option ID=42953] Question Description : odia_odia_set 1_oriya_q64
2[Option ID=42954]
3[Option ID=42955]
4[Option ID=42956]

Sl. No.65
QBID:123065




660 QR 69991 9810 98 §A9Q1 92 Ifge ?

A §Q

B. @@
C. 2619
D. Qlfl

0@ 0eQ 68108 a9 :

1.AGB
2.C8D
3.BGD

4.AQBC
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=42957] Question Description : odia_odia_set 1_oriya_q65
2[Option ID=42958]

3[Option ID=42959]
4[Option ID=42960]

Sl. No.66
QBID:123066

‘@ 97 980 ‘@’ 9A9 QIR TAS 5998 &9 |

@98 aran
NEEE R
Blaie  |n[QQe adq
c|aeesa [m|5qe
p.|aegs | |asrial

QY GRE Fa MRIQ AUYP QEQd 92 /9 :

1. A-TI, B-III, C-IV , D-1
2.A- IV, B-IIL C-IT, D-1
3.A-IV B-IL[, C-III, D-I
4. A-1V ,B-1, C-11, D-III
1) 1
(2) 2
3) 3
(4) 4
1[Option ID=42961] Question Description : odia_odia_set 1_oriya_q66
2[Option ID=42962]

3[Option ID=42963]
4[Option ID=42964]
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1. A-1I, B-III, C-I., D-IV
2.A-1IT, B-II, C-IV, D-1
3.A-1IV ,B-III, C-1, D-II
4. A-1I.B-L. C-IV . D-1I1
11
(2) 2
(3) 3

(4) 4

1[Option ID=42965] Question Description : odia_odia_set 1_oriya_q67
2[Option ID=42966]

3[Option ID=42967]

4[Option ID=42968]

Sl. No.68
QBID:123068
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AOg GaQ o6 MRIQ AAge Ae9d §a aQ :

1. A-1I, B-III, C-IV . D-1
2. A-1,B-III, C-IV , D-II
3.A-1I.B-1IV. C-1., D-II1
4, A-1II, B-1, C-IV, D-II

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=42969] Question Description : odia_odia_set 1_oriya_q68
2[Option ID=42970]

3[Option ID=42971]

4[Option ID=42972]

Sl. No.69
QBID:123069




‘@ 97 980 ‘@ 9AQ QUQR TS H99E &9 |

@ 9e] 96
A (990 9QRIQ |1 [A0e A8RIge
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ARG Q121N Qgele 19 (S
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el alalisy

Arg FRF 96 MU aage aklad da aa :

1. A-1, B-1IV, C-1I, D-III

2.A-1I,B-1, C-IV, D-III

3.A-1II, B-1IV,C-I, D-1I

4. A-1IV . B-1IIL C-1I, D-1

(1) 1

2) 2

(3) 3

4) 4

1[Option ID=42973] Question Description : odia_odia_set 1_oriya_q69
2[Option ID=42974]

3[Option ID=42975]
4[Option ID=42976]

Sl. No.70
QBID:123070
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QY GRE 9a FRIQ AUYP Q&G 99 /9 :

1. A-TI, B-1, C-IT, D-IV
2.A-1I,B-I, C-IIT, D-1IV
3.A-TIV B-IIL C-1, D-1I
4. A-1I1, B-IL, C-1, D-IV
1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=42977] Question Description : odia_odia_set 1_oriya_q70
2[Option ID=42978]

3[Option ID=42979]
4[Option ID=42980]

Sl. No.71
QBID:123071
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S22 19 - de]
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C. [d96 i@ 1L | 2El N I @&
D. [6QIGL Q1K Iv. |F]8Q QUERE

Qg 9P 96 FRIQ QAR QRQd 4o ! ¢

1. A-TI, B-III, C-IV, D-I

2. A-1II, B-1V, C-1I, D-1

3.A-TI,B-IV, C-III, D-I

4. A-11.,B-1V, C-1, D-1IT

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=42981] Question Description : odia_odia_set 1_oriya_q71
2[Option ID=42982]

3[Option ID=42983]
4[Option ID=42984]

Sl. No.72
QBID:123072
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1. A-IV ,B-1III, C-1T, D-I
2.A-1,B-I, CIII, D-IV
3.A-1,B-IV,C-1II, D-III

A-TII,B-II, C-I, D-IV
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=42985] Question Description : odia_odia_set 1_oriya_q72
2[Option ID=42986]

3[Option ID=42987]
4[Option ID=42988]

Sl. No.73
QBID:123073
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1. A-1,B-1III, C-IV , D-II

2.A-1IV ,B-IIL C-IT, D-1

3.A-1,B-IV.C-II, D-IIT

4. A-T1.,B-1V, C-ITT, D-1

1)1

(2) 2

3) 3

(4) 4

1[Option ID=42989] Question Description : odia_odia_set 1_oriya_q73
2[Option ID=42990]

3[Option ID=42991]
4[Option ID=42992]

Sl. No.74
QBID:123074
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1. A-TI, B-II, C-IV, D-I
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3.A-1,B-II, C-IV, D-III
4. A-1II, B-IV, C-1, D-II
(1) 1
(2) 2
(3) 3
4) 4
1[Option ID=42993] Question Description : odia_odia_set 1_oriya_q74
2[Option ID=42994]

3[Option ID=42995]
4[Option ID=42996]

Sl. No.75
QBID:123075
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1.A-1,B-IV,C-III, D-II
2.A-1I,B-1V, C-I, D-1I1
3.A-IV B-IIIL C-1, D-II
4. A-11, B-IIL, C-T, D-IV
1) 1
(2) 2
3) 3
(4) 4
1[Option ID=42997] Question Description : odia_odia_set 1_oriya_q75
2[Option ID=42998]

3[Option ID=42999]
4[Option ID=43000]

Sl. No.76
QBID:123076
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4.B,A, D, C

1) 1

) 2

(3) 3

(4) 4

1[Option ID=43001] Question Description : odia_odia_set 1_oriya_q76
2[Option ID=43002]
3[Option ID=43003]
4[Option ID=43004]

Sl. No.77
QBID:123077
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1) 1
(2) 2
3) 3
4) 4
1[Option ID=43005] Question Description : odia_odia_set 1_oriya_q77
2[Option ID=43006]

3[Option ID=43007]
4[Option ID=43008]

Sl. No.78
QBID:123078
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1.C.,A.D.B
2.A,C,B,D
3.C.B.D.A
4.B.A,C,D

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=43009] Question Description : odia_odia_set 1_oriya_q78
2[Option ID=43010]
3[Option ID=43011]
4[Option ID=43012]

Sl. No.79
QBID:123079
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B. 3G Qs B QIFeY
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D. 68I&le
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1.AC,D,B
2.C, DB
3.C: D B A
4.A,D.C.B
1) 1
(2) 2
3) 3
(4) 4
1[Option ID=43013] Question Description : odia_odia_set 1_oriya_q79

2[Option ID=43014]
3[Option ID=43015]
4[Option ID=43016]

Sl. No.80
QBID:123080
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B. 2IQ6QAQ1
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Oa aaa Salad aa |
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4.B.D.A,C
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=43017] Question Description : odia_odia_set 1_oriya_q80

2[Option ID=43018]
3[Option ID=43019]
4[Option ID=43020]

SI. No.81
QBID:123081
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1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=43021]
2[Option ID=43022]
3[Option ID=43023]
4[Option ID=43024]

AR IR AQQAIER G668 6 YUY 606 AT O, |
A QMR KD

C. QYR AQQIR

D. 6618 @aeq @0

Oe aaa Salad aa |

Question Description : odia_odia_set 1_oriya_q81

Sl. No.82
QBID:123082
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(4) 4

1[Option ID=43025]
2[Option ID=43026]
3[Option ID=43027]
4[Option ID=43028]
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Question Description : odia_odia_set 1_oriya_q82

Sl. No.83
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1.A,C.B.D
2.D,A.B,C
3. BaC A
4.B.A.C,D

1 1

(2) 2

(3) 3

(4) 4

1[Option ID=43029] Question Description : odia_odia_set 1_oriya_q83
2[Option ID=43030]
3[Option ID=43031]
4[Option ID=43032]

Sl. No.84
QBID:123084
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(1) 1
(2) 2
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(4) 4
1[Option ID=43033] Question Description : odia_odia_set 1_oriya_q84

2[Option ID=43034]
3[Option ID=43035]
4[Option ID=43036]

Sl. No.85
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1) 1
(2) 2
3) 3
(4) 4
1[Option ID=43037] Question Description : odia_odia_set 1_oriya_q85
2[Option ID=43038]

3[Option ID=43039]
4[Option ID=43040]

Sl. No.86
QBID:123086

QLR QR6 ARy G2IQIRE | YA 661IGE IR (Assertion) ‘A’ GISQ I6° ZIQUCE L& (Reason) ‘R’
QEQ 049 FQULRE |

QTP (Assertion) A : 98 Q& TPAQ YRPIQURP FEGEE GRRIQG IRGQIRI 0@ 62IR2IN |

Q& (Reason) R : @RRIQ6 2GR NG 6606 AIQSN 920 QTR SLREIR | 6§9IQEN QR IGR
PRGEEQ U090 Q@ Q6 |

-

Q6D FRQY Q@6 YAEQ PF] A QAT Y QYR QA6 P8 @ |

1.ABR QK ORI R 6908 A Q QU@ QUISHI |
2.ABR QL 0 1613 AQ QTR QUIEHI R Q64 |
3.ACR BR @ |

4. A QR BROR |
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=43041] Question Description : odia_odia_set 1_oriya_q86

2[Option ID=43042]
3[Option ID=43043]
4[Option ID=43044]

Sl. No.87
QBID:123087




QIR Q@G F1RQY GRS | 8Q 665G QIR (Assertion) ‘A’ QI6Q Q" 2RYC'R Y& (Reason) ‘R’
QIEQ 046 KULIRE |

AIIL! (Assertion) A : @QH 6918 Q0 Q@G GRINEEQ 2B RFIQR FRVIQ 621 B g8l AR AR
Qi@ AR |

@ (Reason) R : 6T 699 @6 6918 8 IR AFRAER @ 9& 62102l |
QUERIR F1RQY QaE G66a &f J0a 8 Iy AUYe eed Fda aa |

1. AB RQQCA OF | R 6208 AQ Q@ QUIGHYI |
2. ABRQQI 08 | FIg AQ QUYR QUISHI R Q6% |
3.A00 BRGM |

4. AmBROS |
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=43045] Question Description : odia_odia_set 1_oriya_q87
2[Option ID=43046]

3[Option ID=43047]
4[Option ID=43048]

Sl. No.88
QBID:123088

OFEQ Q@F FQQY GRILIRE | 92IQ 661I5R YIR! (Assertion) ‘A’ QIEQ IQ° 2IRYG'Q. @ (Reason) ‘R’
QEQ 046 Q@QULIRE |

QORI (Assertion) A : B IR ABG RRQIST 62QIR LGNS| RINRES |
Q& (Reason) R : @628 FRIEQ 910 @ERIQ FIRQRUESR @AQIQ Z6aIe Q12|

QUEQIR F1RQY QaE GG6a &F] J0a §aa iy Adge aeed #da e |

1.ABRQ O | R6EGE AQ QIR QUISHI |
2. AGR Q24 0& | fIg AQ QAR QUGN R Q6D |
3.AC@ BR @M |

4. AR BRO |
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=43049] Question Description : odia_odia_set 1_oriya_q88
2[Option ID=43050]

3[Option ID=43051]
4[Option ID=43052]

Sl. No.89
QBID:123089




QIR Q@G F1RQY GRS | 8Q 665G QIR (Assertion) ‘A’ QI6Q Q" 2RYC'R Y& (Reason) ‘R’
QIEQ 046 KULIRE |

QITL! (Assertion) A : QRIGE ENGIR 2RIR €8Y, 15 QEIB6Q 98 Iugle 98 aml |
& (Reason) R : 2@ 2RCR I8 18 GQEAQ 810611 6660 Qem ArCI0R@E! 8 §6 el @1y |
QU6QIE QAU a6 CG6a Ff Jaa 6aF g YR aaed da e |

1.AB RQ@C OR | R62GE AQ QU@ QYIS |
2. ABRQEA 0 | €I AQ QULYE QUIEHI R Q6% |
3.ACR BR @ |

4 AQMBROR |
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=43053] Question Description : odia_odia_set 1_oriya_q89
2[Option ID=43054]
3[Option ID=43055]
4[Option ID=43056]

Sl. No.90
QBID:123090
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1. 2280 Q@aQY - 8 Qagy -9 0q |
2. 0 Q@AY - 8 9RQY -9 Ym |
3.9@QY -0 Of fIe Q@Y -9 @m |

4.Q@QY - © @m FIe @aQy -2 O |

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=43057] Question Description : odia_odia_set 1_oriya_q90
2[Option ID=43058]

3[Option ID=43059]
4[Option ID=43060]

Sl. No.91
QBID:123091




@f] 2Q629F 066 90Qal 9gase aaa 52 |

arl-68 62 aaie 28, 6 aaie QI Q] fRQIQ Q212 28, OF U8 | @R 66115 QA QIRIR §18,
AQUER QuUl, AQTER QEQE QIR QR | §ig1 OATR Yl | AR QPER QSeY QF @ Al6Q,
f106 SR 8 QIERY 1 965 QEQN B YRISIER ARAR F6RIIT FRISIFRER 694N QF] AG6R Sig!
Q &N | QQ68lafIF 99IN6a 84 @Q69Q 9 ¢ 6614 F2a6a ArAIRe 9@ |69696@6% 64
@64 ARG BR2 R ; - V8Q @ AIFNI 64T QVE 6AETERER PIFR AR Q6L | 9IS
SoYRd 9A96Q 2RYI0.ARIQ g8 TR, 6I60696R 64 G |1 AQ F12060 @6él 8E 629, T
Q6% | 690¢l @ ZQl AAY6Q 99 ARIIR AI6Q; RIQMYIY QYSIG ARY dQ ATAIBR | R6d 6QIRG
&G AIf 69K 910 Y6GYR 6RE, I6SYR ATSFER OB AUINY 64IF QAR TR AIF | 290 ACHS
AALER HIQ 6QFQ QIS 6Qd 62IRE | YAR AQYIER K K@ Q6L ; F64 ARIIQE QUE |

& A0 AGRIR 80 ?

1. AQ1€l QIQQQE
2. 4ARfie 2AQeQ
3. 64109 QIR

4. 8R1-61
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=43061] Question Description : odia_odia_set 1_oriya_q91
2[Option ID=43062]

3[Option ID=43063]
4[Option ID=43064]

Sl. No.92
QBID:123092

AF ARERAE AI0RE AQQaT YYaFe aaa &2 |

arl-6¢ 60 aale 28, 6a aaie Qul 9% #6QIq AYIe B8, OR 28 | ARl 64N IFl QIFIQ §1F,
AQd6a Qal, AQGER 0RERs ARIAER SR | figl 6036 401 | Rl e6R QIEeY ad @ Alsa,
R10¢ Rl 8 QIFRY 1 Q6 ABESH B JRISIER LR F6QIIT | AR KIS 6QREIR Q8! AF6R dg1
Q 2 | gRslafR QQINER @6 A6 94 © 661613 F2a6a ArAIRe 9Qa |1 69606@6R 69
@64 ARINEI BRI §F ; - A8 KQ - 218l 66T YV 6IECEQER PIFQ VAV Q6L | 26
SoYRd AY6R URYI, ARIQ 8R! 2ITRI, 6I606Q6R 64 &6 | AQ (2069 K64l 84S 620, AR
Q6% | 692l @ QI AAYER 9 FRIAIR AIEQ; FIQMIQ QYS1S AY AQ ATAIBR | F6él 6RIRG
a4 AIf 600 010 Y6GYR 6RE!, YECYE ATFER OF IR 66lIF QAR PR FIE | 2IF USRS
AALER HIR 6RFQ QUG 6Qd 62IRE | YAR AQYIEN K& K@ Q6L ; F64 ARINE QYE |

Jg1R f186 6a LRI 6QIm QalaN ?

1.6dlee & adela 9ae AF9
2. QI66Y AGRIR ARAQ!
3.9601 68 & 6000 AQAS 6analIN

4. 81g1A169 @ Qo
(1) 1
(2) 2
(3) 3
(4) 4




1[Option ID=43065] Question Description : odia_odia_set 1_oriya_q92
2[Option ID=43066]
3[Option ID=43067]
4[Option ID=43068]

Sl. No.93
QBID:123093
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Q106 £R1 8 QIERY 1 968 QBRI B RISIER ARTR G6RII | FRISIFRER 6QR4Ia QF] AG6R Sig!
Q 2N | gQ88lafiF 9QIN6a 88 #9699 9 6 6614 F2a6a ArAIRe 9Q@ |69696@6% 64
@641 ARING BRI &G ; A8 Q- 28| 661IF 1N YA 6UECEQER PIFQ ARV Q6L | 296
SoYRd Qn96Q 2RYI0.ARIQ g8 2ITRI, 6I60696R 64 &G |1 AQ F2060 @6él 8F 629, T
Q6% | 6g2¢l @ QI AAYER A9 ARIAIR AIEQ; RIQMIY QYS1S AQY IQ ATAIBR | F6él 6QIRG
&G A1 69R 010 Y6SYR 6REI, J6SYR ATFER O UINY 64IF QRER R AIF | 296 ACHS

AALER HIQ 6QFQ QIF 6Qd 62108 | YAR AQYIER K K@ Q6L ; F64 ARIINE QUE |
QIR & RO @9 ?

1. 99g 9e6dIae|
2. 2lesdasll
3. ARSI A6l
4. Qa4
(1) 1
(2) 2
3) 3
4) 4
1[Option ID=43069] Question Description : odia_odia_set 1_oriya_q93
2[Option ID=43070]

3[Option ID=43071]
4[Option ID=43072]

Sl. No.94
QBID:123094

ff 2Q629F Q066 90Qal Qgese aaa 52 |

aR1-51§ 60 adie 28, 69 aie QI 98 AAQIR QQIe 28, OF U8 | HR1 66115 1A QIFIQ 617,
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Q106 SR 8 QIERY 1 968 QEQ9N B QRISIER ARTR GERIIT FRISIFRER 6QREIR QF] AG6R Sig!
Q &N | gQ88lafF 9QIN6a A8 #Q69Q 9 ¢ 66141 F2a6a ArAIRe 9@ |69696@6% 64
@64 ARG BR2 K ; - V980G @ AIFNI 641IS 1N QVE 6AETEQER PIFQ ANVY Q6L | 9%
SoYRd Q9A96Q 2RYI0.ARIQ g8 2ITRI, 6I60696R 64 &G |1 AQ F1206a @6él 6F 629, T
Q69 | 6gQ¢ll @ ZQl AAYER A2 ARIAIR AI6R; RIQAYIA QYIS A AQ AFTUIER | R64l QIR
&G A1 69R 010 Y6SYR 6REI, J6SYR ATFER O UINY 64IF QRER R AIF | 296 ACHS
AALER HIQ 6QFQ QIF 6Qd 62108 | YAR AQYIER K K@ Q6L ; F64 ARIINE QUE |




A9 8 91 ARINE SR QIEQ FRIY F6QRINIQA 680 ?

1. 2Q6QREIR FRIEIRIOG! 6ale]

2. 21909 9@ AQQQ Ale

3. 2I0dia geMIae 98Q

4.9150091 8 GRITASIQ 9Q 629

(1) 1

2) 2

3) 3

(4) 4

1[Option ID=43073] Question Description : odia_odia_set 1_oriya_q94
2[Option ID=43074]

3[Option ID=43075]
4[Option ID=43076]

Sl. No.95
QBID:123095

@] 2Q68ed Q08 A0QAT g4qFe aaa 52 |

arl-68@ 60 aale 28, 62 aale Qul Q] RQQIQ QY12 28, OF 2R | @R 641IE Q1A QRN §18,
AQE6a I, Q560 QREQE ARIN6R SR | g1 6ade 49! | aRl o6 Q6 ad @ dlsq,
Q106 SR 8 QIERY 1 965 QEQEH B ARISIER ARAR F6QRIT FRISIFRER 6AREIR QF] A6R Sig!
@ 2N | 9R6TIfIR ARQINER AG FYELQ 4 @ 66141d FRaEa ArAIRe dQ@ |69606Q6M 64
@64 ARG BRI K ; - A8Q @ AIGNHI 64T QVE 6AETERER PIRFR AR Q6L | 2%
SoYRd 9A96Q URYI0.ARIQ 98! TR, 6I60696R 64 G |1 AQ F12060 @6él 8E 629, T
Q6% | 6904l @ QI AAYE6R A2 ARIAIR AI6Q; RIQAIY QYSIE AY dQ ATAIBR | F64 6RIRG
RQ FAIF 69R IR YEVIR ERE!l, Y6 ATEER OB Q4 641G QAER R QIE 1990 Usae
AAY6R IR QTR QUG 6QE 62IRE | MR AQYIER AQ 6 QES; F6E ARIQE QY |

ARIQ 00| AIF 8d AGReD eQIN ?

1. ARIRINE QY@
2. Q00 TAQR 9QQ
3.Q18q ARIRIR
4. TR QY

(1) 1

2) 2

3) 3

(4) 4

1[Option ID=43077] Question Description : odia_odia_set 1_oriya_q95
2[Option ID=43078]

3[Option ID=43079]
4[Option ID=43080]

Sl. No.96
QBID:123096




@f] 2Q629F 066 90Qal 9gase aaa 52 |

TR $ORE (8 6210 S8R AR £AQ! & Qa0 Qo IS | 960 QANIQ JOER F1kI 691
Q" QgoIAgaq fades dda §easial 6aISe 6228 ; GUId QAAIR P 999Q ULASE
g6Q6I6Q Q4IQ A6 64 918 @ FOI0Q QIR | AAEY 697 SFQ 6QIAIRER AIQF 6291 AR |
64 6060 $189Q AURIQT 6L2QAT, 6Q 6Q6L Y Y@ QUMNAIR | &IQ, FRIQ, LA, AR AQRYIR
QA6QIGG! (Adaptation to circumstances) REYIF 6961QQ QAILQIAI AIRQR 618 UEe IS @FG 2,
QIR LOBR 62 AQ AG ARAQYET TRIGE 6208 | UAIREAITE ANRE! IO GFIY QafR O
QREE QES | 6L IS IOEG! QAFINISIR Y AP0 | RIQQ-FIN QFISIE 6060 JOS 62a2E,
AR 21@@@’9@@ 660 QQUE | 6A7Q 6616d YRR 6ARIAG FAY 6P KRR &R
e 6daier 986 ARAl AR HN FOQY FQUd QEq; 6IPAR QAR YOIR & QIF, I6 ansg
6@ P60 QYR AR fRRl 88 66 KAy FETRd FQPEE | 606 A48, 694 RIS QIR
QUEQIS 62IRAIR AIE, 69 QYF , 62 RIS FoR 62028 | QAAINILR 61 QG (Nature) 21PN,
URIIGS (Supernatural) QR QEL |

N RO QURI ?

1.6991
2. 819
3. QRIQ

<

4. &l
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=43081] Question Description : odia_odia_set 1_oriya_q96
2[Option ID=43082]

3[Option ID=43083]
4[Option ID=43084]

Sl. No.97
QBID:123097

AF ARERAE AI0RE AQQaT YYaFe aaa &2 |

YR ORQ A1 62IR SIER QARG £ & QAR QOIR AIRISI | 95 AR Y6 FRI 699!
9e° QReIR8aq adas dda Segcl 6aIFe 62028 ; GUId QAAIR gl 9999 ARG
g60616Q G4IQ f6M 64 917 @ F0IEQ QIR | AFEY 697 IFTQ 6QIAIRER AIYP 62917 AR |
64 6060 S18Q UK Q! 62Q2F, 6Q 6960 Y Y@ QUMD | &IQ, FRIQ, LA, ARG AQYIR
QUBQIGS| (Adaptation to circumstances) QYT 6Q61AQ QAIAQIA! AIRAR 67 U56 9" QFS 9,
Qarlle QeIEa 69 AQ AG OERYEA JRIEIe 6208 | AFIQEFIFE ARRG! ¥e° §4IA Qi Qa9
REE Q65| LY Q" IPRO| QAFINYFIR FOY ADOQ | FIPR-TLIA SFISIE 6066 YOS 62a2E,
FRAAINA AIQHAAAIQ 6960 QB | 607Q 66191 Yoo 6901a8 §as 6304aR Rl 68
e 6d04on 980 QR A Fea fEQY §9Od 6Q; 6ITAR QAAIR LIR & A7, *I6 aaeY
60 G6@ YR GAQ ARl A8 96 A G81ad aqed | 606 Y&, 696 QIF QYR
QA6QIG 621RAIR AIE, 67 AYF , 69 QI6 §OR 62028 | QAAIRIAR 616 dQ@E (Nature) 2P\,
URIGS (Supernatural) QK AEL |




a1 28R Q41 B QeI ?

1. 8Q 2RI
2. 9QeQIal

3. RJIQQIQT

4. QRIQ QI
(1) 1

(2) 2

3) 3

4) 4

1[Option ID=43085] Question Description : odia_odia_set 1_oriya_q97
2[Option ID=43086]
3[Option ID=43087]
4[Option ID=43088]

Sl. No.98
QBID:123098

&6 206295 Q1068 A0Qal 9gase aaa 52 |

TR GORQ AR 6210 S8R ARANE €A1 & QRAIR QoI AIRTSI | 959 AAIR BN ARl 691
Q" 99oIAsaq fades dda Gegeiel 6aISe 62028 ; 0aId QAR 4 299Q ALASE
g6Q66Q F4IQ AR 64 98 @ FEIEQ QIR | AAEY 695 ST 6QIAIRER AIQF 62918 AR |
64 6060 S19Q 2URIQ 62Q2T, 6Q 6960 Y Y@ QIMNAIR | RIQ, FRIQ, LA, AR AQYIR
QE6QIGG! (Adaptation to circumstances) REYIF 6061AQ QALY QI AIRQR 61 e IS QFG 2,
QaAIR Je6a 64 AQ AS QERQEA IR 6228 | UTIQ61 ARl Q" QgIq Qaflle YOI
QEE QBT | DD IS VPG| QAFINYTIR Y APPR | RIQQ-FIN QA8 660 YOS 6228,
(ninlajaj[ala] a@@a’s}a@ 660 QQIUE | 60FQ 66169 eI 69108 9UY 69O AR K8
6a 6daier 9806 QAR AR HRR FAQY GQad QEQ; 6I0AR QAR QIR & QUF, 16 anss
f6a P60 QYR AR FRRl A8 G KAy FaTad FQPEd | 696 QYF, 696 RIS QYR
QABLIS 621QQIG QIT, 69 QY7 , 64 QIS 0% 62028 | EAAINYNR 68 QQd (Natre) 2I0],
URIIGS (Supernatural) 2K Q6L |

66016 QAAIRINRN ASE ?

1. AFIQEAIEe 90ao!
2. QIR B FEQREQ IR
3. 9602 6 A0

4. LA G QIR
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=43089] Question Description : odia_odia_set 1_oriya_q98
2[Option ID=43090]

3[Option ID=43091]
4[Option ID=43092]

Sl. No.99
QBID:123099




@f] 2Q629F 066 90Qal 9gase aaa 52 |

TR $ORE (8 6210 S8R AR £AQ! & Qa0 Qo IS | 960 QANIQ JOER F1kI 691
Q" QgoIAgaq fades dda §easial 6aISe 6228 ; GUId QAAIR P 999Q ULASE
g6Q6I6Q Q4IQ A6 64 918 @ FOI0Q QIR | AAEY 697 SFQ 6QIAIRER AIQF 6291 AR |
64 6060 $189Q AURIQT 6L2QAT, 6Q 6Q6L Y Y@ QUMNAIR | &IQ, FRIQ, LA, AR AQRYIR
QA6QIGG! (Adaptation to circumstances) REYIF 6961QQ QAILQIAI AIRQR 618 UEe IS @FG 2,
QIR LOBR 62 AQ AG ARAQYET TRIGE 6208 | UAIREAITE ANRE! IO GFIY QafR O
QREE QES | 6L IS IOEG! QAFINISIR Y AP0 | RIQQ-FIN QFISIE 6060 JOS 62a2E,
AR 21@9’\@’9@@ 660 QQUE | 6A7Q 6616d YRR 6ARIAG FAY 6P KRR &R
e 6daier 986 ARAl AR HN FOQY FQUd QEq; 6IPAR QAR YOIR & QIF, I6 ansg
6@ P60 QYR AR fRRl 88 66 KAy FETRd FQPEE | 606 A48, 694 RIS QIR
QUEQIS 62IRAIR AIE, 69 QYF , 62 RIS FoR 62028 | QAAINILR 61 QG (Nature) 21PN,
URIIGS (Supernatural) QR QEL |

QAIQ LOIR QUE Fea fOQY G HEIRG a6Q ?

1. 998 6dQY0Re ARl &)
2. 908 QIOQ-IIf &R

3.00 20gIa e el @]
4. F19Q1L §I8 SO @R

(1) 1

2) 2

(3) 3

(4) 4

1[Option ID=43093] Question Description : odia_odia_set 1_oriya_q99
2[Option ID=43094]

3[Option ID=43095]
4[Option ID=43096]

Sl. No.100
QBID:123100

@f] 2Q629F 066 90Qal 9gase aaa 52 |

TR FORE (@ 6210 SFQ AQARE £AQ! & QAR QOR AR | 960 QANIQ JOER F1XI 691
Q" QgoIFgaq fades dda §easl 6aIFe 62028 ; ST QAAIR e 999R UALASE
g6Q6I6Q G4IQ F6R 64 918 @ FOI0Q QIR | AFEY 697 GFQ 6QIAIRER AIQF 6291Q AR |
64 6060 $18Q AURIQ1 62Q2AT, 6Q 6969 L Y@ QUIMNAIR | &I, FRIQ, LA, QRIS AL
QE6QIGG! (Adaptation to circumstances) REYIF 6961QQ QAILQIQI AIRQR 618 UEe IS QFG 2,
Qe OBR 64 AQ AG ARRQYET TRIGIe 6208 | UAIREAITE AR Y& GFIY QoA LR
QEE QBT | 6L IG° OGO QAFINASIR Y AP0 | RIQQ-SIFIN QSIS 6060 YOS 62a2E,
AR 21@5\@’9@@ 660 QQYUE | 6971Q 66164 YRR 6IRIAG §U 6P KRR &]
e 6daier 986 ARAl AR HN FOQY FQUd QEq; 6IPAR QAR YOIR & QIF, I6 ansg
6@ P60 QYR AR fRRl 88 66 KAy FETRd FQPEE | 606 A48, 694 RIS QIR
QUEQIS 62IRAIR AIE, 69 QYF , 62 RIS FoR 62028 | QAAINILR 61 QG (Nature) 21PN,
URIIGS (Supernatural) QR QEL |




QAAINILR 516 606 2IQ. ?

1. ARIGSQ! QR

2.996 2w
3.QRIQ AR
=

4. 46 2o
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=43097] Question Description : odia_odia_set 1_oriya_q100

2[Option ID=43098]
3[Option ID=43099]
4[Option ID=43100]




